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Note: ATTEMPT ANY FIVE QUESTIONS

All questions carry equal marks.
Assume suitable missing data, if any.

Q.1 To be a strategic business contributor, HR management must

Q.2

Q3

enhance organizational performance, expand human capital, and be
cost-effective. Discuss how HR professionals must balance the
competing demands made on them. [10 MARKS] [CO3]

Create an incentive plan for the following positions: plant manager,
and used-car salesperson. What factors did you have to consider in

reaching your conclusions? [10 MARKS] [CO4]

You're the supervisor of a group of employees whose task is to
assemble disk drives that go into computers. You find that quality
is not what it should be and that many of your group's devices have
to be brought back and reworked. Your boss says - You'd better start
doing a better job of training your workers.

a. What are some of the staffing factors that could be contributing to this

problem?

b. Explain how you would go about assessing whether it is a training

problem. [10 MARKS] [CO2]

Q.4 You are applying for a job as a manager and are at the point of

negotiating salary and benefits. What questions would you ask your
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prospective employer corcerning benefits? Describe the benelils

package you would try 10 negotiate for yourself.
[10 MARKS] {CO1]

Q.5 Discuss the nature of industrial conflicts. What measures would you

suggest for the attainment of industrial peace in the country?
[10 MARKS] [CO3]

Q.6 Explain how you would use the alternation ranking method, the

paired comparison method, and the forced distribution method.
[10 MARKS][CO 1]
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Note: Attempt any five questions

All guestions carry equzl marks.
Assume suitable missing datza, if any.

0.1

Q23

What are the major components of 2 good research study? What 1s
more value to the industry: basic, fundamental or cross -functional?
Justify your answer. [10][CC=T

The Indian Army wants to understand why the young students from
major Indian cities are not excited to prefer defence forces as a career
option.

Draw a suitable research process flow chart to explain the research
methodology you would like to use for such studies. Briefly explain

each step. [5][CO=LT])
Generate some descriptive and relational hypotheses for the study,
[S1[CO=LI]

Faced with growing absentesism and low productivity, the HR
manager of a leading Public Sector Enterprise proposes that a
comprehensive study is required to be conducted to understand the
reasons of absentesism and low productivity across the hierarchical
levels, age, gender, educational qualifications and other imporant
demographic and socio-cultural characteristics of the employess.

Design a suitable questionnaire to capture relevant data from the
respondanis.



Q.4

Q.5

0
Kirti Industries intends to understand the perception about |
corporate image which young students from various business school
carries. The company administers a questionnaire to capture (FH
perception. They are then shown the TV Commercial about the
company. After showing the commercial, the same set of studer
are again asked to fill the questionnaire. [10[CO4I, 1]
Design the experiment and explain dependent variable, extraneot?
variable and test units. [S][COHII, llk

State suitable hypothesis and explain the statistical technique yolT§
would like to use to test the stated hypothesis. [5][CO#III§
Indicate the type of measurement scale you would use for each of the ™,
following: Colour of a car, age of a TV, occupation of thgm
respondents, brand loyalty, intention to purchase an electric car, mos%
preferred brand of a laptop. Develop a suitable question for each ﬁ

the characteristic and justify your answer. [10[CO#IL, IT] %
Attempt both the questions given below: %
What is the main difference between stratified sampling and quota %
sampling? [5[co#n§'

The CEO of a company is interested to understand the employee.
feedback on product extension, brand extension, new product ideas, &
budget allocation, alternative advertising programs and marketin
strategies. Ad hoc organizational committees comprising of’
heterogeneous collection of employees with different interest, val
system, educational background, hierarchy level are formed. The
CEO will make suitable strategic decision based upon the inp
received from the teams. 3
Name and comment the sampling technique used above. Can ther%
be a better sampling technique then this one under this situation?

[S[CO# II, TIT §
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COURSE CODE: MBA 106 COURSE TITLE: Financial
Management & Policy

Time: 03:00 Hours Max. Marks: 50

‘Note : Q1 is compulsory and answer any four from the remaining.
All questions carry equal marks.
Assume suitable missing data, if any.

Q.1 XYZ Company Limited is a growing and highly profitable consumer
goods firm. The firm is introducing a new breakfast cereal. The cost of
plant is estimated as Rs.250 lakh. The annual capacity of the plant is to
manufacture 50,000 packets of 850 grams each. The price per set in the
first year would be Rs.140 and the variable cost per packet will be Rs. 85.
The initial fixed cost would be Rs.150 lakh which includes one-time
promotion expenditure of Rs.75 lakh in the first year. Written-down
depreciation rate for tax purposes is 25 per cent. Working capital
requirement in the beginning of the year is estimated to be 15 per cent of
sales. The company expects its revenue and costs to be affected by inflation
‘which is expected to be 5 per cent per annum.

Vo

The company expects that the plant’s capacity utilization over its economic ‘>
life of 7 years will be as follows: o™~

Year 1 2 3 4 5 6 7
Capacity utilization (%) 25 35 50 75 90 100 100

The terminal value of the project is estimated to be Rs.25 lakh. Calculate
the project’s NPV assuming a target rate of return of 9 per cent. The
corporate tax rate 35 per cent and profit from the sale of the asset is taxed
as ordinary income. Assume that depreciation is charged on the block of
assets as per the current tax laws in India.
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the discounted payback method correct all three flaws? Explain in brief.

[7+3][CO 3]

Q.2 A company needs Rs.500,000 for construction of a new plant. The
following three financial plans are feasible: (i) The company may issuc
50,000 ordinary shares at Rs.10 per share. (ii) The company may issue
25,000 ordinary shares at Rs.10 per share and 2,500 debentures of Rs.100
denominations bearing a 7 per cent rate of interest. (iii) The company may
issue 25,000 ordinary shares at Rs.10 per share and 2,500 preference shares
at Rs.100 per share bearing a 7 per cent rate of dividend. If the company’s
earnings before interest and taxes are Rs.20,000 , Rs.60,000 and
Rs.100,000, what arc the carnings per sharc under each of the three
financial plans? Which alternative would you recommend and why?
Determine the indifference points by formulae. Assume a corporate tax
rate of 35 per cent.

b. What is financial risk? How does it differ from business risk? How are
they measured? Also explain how does the use of financial leverage result
in increased financial risk?

[7+3] [CO 2]

Q.3 3 a) The usual practice of the companies is to pay dividends in cash.
But there are other options of rewarding the sharcholders too. Explain and
elaborate any two such ways adopted by Indian companies. substantiate
with any recent example in Indian context.

b) Following data of Beta Ltd is given:

Year EPS DPS Market Price
2019 4.00 1.80 13.50
2020 1.50 1.80 12.50
2021 5.00 1.80 1250

2022 400 180 1250
2023 8.00 1.80 - 15.00
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(he given company and comment.

(545](CO 5]

Q.4 a) How is working capital affected by (n) sales, (b) technology and
production policy, and (c) inflation? Explain. Do you recommend that o

firm should finance its current assets entirely with short-term financing
Explain and Illutrate your answer.

b) While preparing a project report, on behalf of a client, you have
collected the following facts. Estimate the net working capital required for
that project. Add 10 per cent to your computed figure to allow for
contingencies. You may assume that production is carricd on evenly

throughout the year (52 weeks) and wages and overheads accrue similarly.
All sales are on credit basis only.

Amount per unit (Rs.)
Estimated cost per unit of production is:

Raw material 45
Direct labour 15
Overheads (exclusive of depreciation) 32
Total cost 92

Additional information:

Selling price Rs.106 per unit, Level of activity 100,000 units of production
per annum. Raw material in stock average 4 weeks Work-in-progress
(assume 50%completion stage) average 2 weeks Finished goods in stock
average 4 weeks Credit allowed by suppliers average 4 weeks, Credit

allowed to debtors average 8 weeks, Lag in payment of wages average 12
weeks and Cash at bank is expected to be Rs.125,000.

[5+5] [CO 4]
Q.5.a. What’s the difference between a stock’s current market price and its
intrinsic value? Do stocks have a known and “provable” intrinsic value, or
might different people reach different conclusions about intrinsic values?
Give reasons. Also explain whether managers should focus directly on the
actual stock price, or on the stock’s intrinsic value, or are both important?

b. Assume that you plan to buy an apartment five years from now, and you
need to save for a down payment. You plan to save Rs.2,50,000 per year,
with the first payment made immediately, and you will deposit the funds
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in 2 bank account that pays 4 percent. How much will you have after five
years? How much would you have if you made the deposits at the end of
each year? Would distant payments contribute more to the value of an
annuity if interest rates were high or low? Illustrate with an example.

[5+5][CO 1]

6) Short Notes on any four: (max. 500 words each)
a) Credit policy of an Organisation

b) Default risk and Interest Risk of a bond

¢) Market Risk, diversifiable risk and relevant risk
&)Factors that affect Cost of capital

e) IRR vs MIRR

[2.5%4][CO 1,2,3,4,5]
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Note: Answer any five questions. z
Assume suitable missing data, if_QQY;“,M_.___“,...,M--m%,_ﬂ,!

Q.1 (a) Whatdo you understand by MRP? Discuss the scenario in which MRP

may be helpful. [4] [CO 1]
(b) Product A is made of 3 units of B and 2 units of C. B is made of two units
of D and 3 units of E. C is made of 2 units of D and 2 units of F. Lead
time for A is one week, B two weeks, C three weeks, D two weeks, E
one week and F two weeks. (6] [CO 2,3]
(i) Draw the bill of materials.
If 100 units of A are needed in week 9, develop a p
each item should be ordered and in what quantity?

lanning schedule when

Q.2 Elaborate different product development stages that you will choose for
development of a new gaming laptop, which is to be introduced in India
during the festive season. [10][CO 2, 3, 4]

Q.3 A distributor wants to place a order of 1000 units for his ware house. The
cost of placing an order is Rs. 10 while holding cost per unit per year Is
Rs. 5. Consider 365 days as working days in a year. Lead time for an
order is 7 days and cost per unit is Rs. 15. Determine the total annual
cost, EOQ, ROP, expected no. of orders. [10][CO 2, 3, 4]

Q.4 Cell phone sales for a California-based firm over the last 10 weeks are
shown in the following table. Forecast the demand for weeks 11 and 12
by using 3 Month Moving Average. Also, find the MAPE, and MAE
for 3 Month Moving Average. [10][CO 1,2, 3]

Week | 1 2 3 4 5 3 7 g 9 10

ISJn[it 700 |724 |720 |728 |740 |742 | 758 |750 [770 |775
ales
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Q.5 (a) Discuss the product and process layout along with their advantages,

and disadvantages. Why assembly line balancing is important and how
it makes contribution to the productivity? (5] [€O2,3.4]

(b) Enumerate the various methods for the selection of I?lam location.
Explain any one of them in detail. Write all your assumptions clearly.

[5]1[CO 1,2, 3]

Q.6 (a) Discuss the key issues involved in a supply chain management. What

are the strategic, planning, and operational issues that must be addressed

by an automobile Company? [5][CO 1,2, 4)

(b) Describe the cycle and push/pull views of a supply chain. Consider the

purchase of a can of a soda at convenience store. Describe the various

stages in the supply chain and the different flows involved. [S][CO 3, 4]

Q.7 Write the short note on any four of the following. [10][CO1,2,3,4]

1. Bullwhip effect

ii. Postponement Strategy
111. Quality Management
iv. Sequencing Vs. Routing
v. Role of IT in SCM
vi. Takt Time
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Note :Answer any five questions
Marks are indicated along with the questions

Q1. XYZ Corp, a multinational company, is facing a dilemma regarding
adopting a new technology for its production process. The new
technology promises higher efficiency and lower costs but requires a
significant initial investment. XYZ Corp is unsure about the potential
risks and benefits of adopting this technology. Analyze the factors
XYZ Corp should consider in its decision-making process regarding
technology adoption, considering both internal and external factors.

(CO5) 10 Marks

Q2 ABC Ltd, a manufacturing company, is considering outsourcing a part
of its production process to a foreign country to reduce costs.
However, there are concerns about the irnpact of outsourcing on local
employment and the company's reputation. Discuss the advantages
and disadvantages of outsourcing for ABC Ltd, considering factors
such as cost savings, supply chain management, and corporate social
responsibility. Provide recommendations for ABC Ltd to manage.
these challenges effectively.

(COS5) (10 Marks)

Q3.2) Explain various types and forms in which foreign investment can -
flow into a country. CO4) (5 Marks)
b) Explain various theories of foreign investment. (CO4) (5 Marks)

P.T.O. /
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Q4 a) Explain the various types of risk faced by a corpo?(tjlzn (»;/h;dr; o
entering a new country. (CO4)

' i ' tages of regional integration
b) What are trading blocs? Explain various s
) with examples. (CO3) (5 Marks)

Q5 Write a short note on the following:
a)  Tariff and Non-tariff barriers (CO3) (5 Marks)
b) 1991 Indian economic crisis (CO1) (5 Marks)

Q6 a) ABC Corporation, a leading player in the automotive industry, is
facing increasing competition from companies that are adopting
advanced technologies such as electric and autonomous vehicles.
Analyze the technological factors driving these changes in the
automotive industry and their impact on ABC Corporation's
business. Propose a technological innovation strategy for ABC

Corporation to stay ahead of the competition and adapt to the 1
changing business environment.

_ (CO2) (5 Marks)
b) GlobalCorp, a multinational company, is considering expanding its
operations into a country with a different political system than its
home country. Analyze the potential political risks GlobalCorp
might face in this new market due to the different political system.

How can GlobalCorp mitigate these risks and adapt its business!
strategies to navigate the political environment effectively? |
(CO2) (5 Marks) )

{
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: Max. Marks: 50
Time: 2 Hour

Note: All questions are compulsory. .
Assume suitable missing data, if any.

: kS
Q.1 Define the following [CO1] [55 Marks]

e Limiting factor and Sunk cost
o Angle of Incidence

Q.2 From the information below, prepare a cash budget for the company for

April, May, and June 2024. [CO4] [10 Marks]
Month Sales Purchases  Wages | Exp.

Jan. (actual) 80,000 45,000 20,000 5,000
Feb. (actual) 80,000 40,000 18,000 6,000
Mar. (actual) 75,000 42.000 22,000 6,000.
Apr. Budget 90,000 50,000 24,000 6,000
May Budget 85,000 45,000 20,000 6,000
Jun. Budget 80,000 35.000 18,000 5'3000

You are further informed that:
* 10% of purchases and 20% of sales are for cash.

The average collection period of the company is half a month and credit

purchases are paid off regularly after the end of one month.

. 'Hn]f of the Wages are paid monthly and the rent of Rs. 500, excluded
In expense, is paid monthly. ,

Cash and bank balance on April 1 was Rs.15

aims to keep it below this figure at the end of

cash is placed in fixed deposits.

,000, and the ﬁé‘on‘i'pany
every month. The excess
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Q.3 From the following information of ABC Ltd. Calculate the following
Profit/Loss( +/-)

- s}
20,000

Year Sales

g
1 400,000 |
—_— - - - l' -

‘ 2| 3.00,000

(20,000)
Determine the following
* Fixed cost and P/V ratio.

* Level of sales to earn a profit of Rs. 35,000. [CO3] [5+5 Marks]

Q.4 XYZ Ltd. produces three products and cost data is as follows: [CO1,Z}
[5+5 Marks] ‘

Particulars X | Y | Z
Selling price per unit 100 75 50 |
P/V Ratio 0.1 02 | 04
Maximum sales potential (in I
units) 40,000 25,000 | 10,000
Raw material content as % of l
variable costs 50 | 50 'q 50

The fixed expenses are estimated at Rs. 6,80,000. The company uses a
single raw material in all the products. Raw material is in short supply and
the company has a quota for the supply of raw materials to the extent of
Rs. 18,00,000 per annum for the manufacture of its products to meet its
sales demand. -
o Calculate the product mix which will give the maximum overall profit
in view of keeping the short supply of raw materials.

Q.5 The Wood River plant of the Union Company has a normal capacity of
90,000 units per month. Monthly production costs are Rs.12 variable per
unit and Rs. 2,40,000 fixed. By increasing the fixed cost Rs.10.000 a
month; the plant can produce 95,000 units. [CO 1,3] [5+5 Marks]
e Cost of the production between 80% and 90% of normal capacity.

e Differential cost of producing the 5,000 units above normal capacity.

e Per unit total production cost of the 5,000 units, rounded to the nearest
Rupees.
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Note: Attempt any five questions. All questions carry equal marks.
Assume suitable missing data, if any.

Q.la) Describe with suitable examples how information systems have
changed the way businesses operate and their products and services.
[5][CO4]

b) Information systems are too important to be left to computer specialists.
Do you agree? Why or why not? [5][COT]

Q.2 a) Identify and describe the features of organizations that help explain
differences in organizations’ use of information systems. [5][CO1]
b) What are the challenges of managing IT infrastructure and management

[5][CO2]

solutions?

Q.3 a) Why is big data S0 Interesting to businesses? What challenges does

big data present? T | - [5][CO2]

b) Define knowledge management and explain its value to businesses.
[3]1[CO3]

Q.4 a) How much can business intelligence and business analytics help
companies refine their business strategy? Explain your answer with suitable
| examples - : [5][CO5]
b) Ik.o h?struments Group, a global supplier of measurement analytical, and
monitoring instrgments and services based in the Netherlands, had a,new
data warehouse designed to analyze customer activity "to i‘mprove service



and marketing. However, the data warehouse was full of inaccurate and g—
redundant data. The data in the warehouse came from numerous transaction -
processing systems in the United States, Europe, Asia, and other locations ‘:';__-
around the world. The team that designed the warehouse had assumed that
sales groups in all these areas would enter customer names, telephone &
numbers, and addresses the same way. In fact, companies in different ™
countries were using multiple ways of entering quote, billing, shipping,ﬁ
contact information and other data. Assess the potential business impact of ™~

these data quality problems. What decisions have to be made and steps &=
taken to reach a solution? [5](CO3] ™

Q.5a) What are the principal methodologies for modeling and designing -
information systems? . [S1[CO6] e‘
b) Define rapid application development (RAD) and agile development and
explain how they can speed up system-building. [S][CO6] Q

Q.6 a) What are the major capabilities of DBMS and why is a relational -
DBMS so powerful? [31[CO3]

b) List and describe with examples the most common threats against
contemporary information systems. [S][CO2)

(
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Note : All questions carry equal marks.
Assume suitable missing data, if any.

Mr. A is planning to start investing in stock market. He met a financial
advisor in order to discuss his investments. Financial advisor asked him few
questions to identify the behavioral anomalies he is suffering from. On the
basis of the following conversation between them, try to identify and
explain the behavioral biases and market anomalies Mr. A is suffering
from?

Financial advisor: What are your views regarding different investment
alternatives?

Mr. A: 1 usually get confused regarding, where to invest due to too many
options, so | prefer to invest in the same type of investments again and again.
Financial advisor: What are the sources of information on which you base
your investing decisions?

Mr. A: 1 often use information gained from news, magazines, or trading
groups when making investment decisions.

Financial advisor: What are the type of stocks you think have high potential
tor growth?

Mr. A: | assume that small firms have earned abnormally high returns over
long periods of time, so I prefer them.

Financial advisor: You bought 100 shares of company XYZ for 40 per
share. In the following trading period the share price declined by 15% to 34.
As an investor, you decided to keep your position for some more time. On
the following day, the share price increased to 46, what will you do?

Mr. A: 1will immediately sell my investment position to book a gain.
Financial advisor: Assume that a coin has been tossed 3 times and every

time head was tossed. If you have to stake INR 1000 on another toss, what
would be your choice? Heads, tails or no preference?
Mur. A: 1 think, head will be tossed again.

1

A 9( &
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Note : All questions carry equal marks.
Assume suitable missing data, if any.

Q.1 Mr. A is planning to start investing in stock market. He met a financial
advisor in order to discuss his investments. Financial advisor asked him few
questions to identify the behavioral anomalies he is suffering from. On the
basis of the following conversation between them, try to identify and
explain the behavioral biases and market anomalies Mr. A is suffering
from?

Financial advisor; What are your views regarding different investment
alternatives? N
Mr. A: I usually get confused regarding where to invest due to too many

options, so I prefer to invest in the same type of investments again and again.
Financial advisor: What are the sources of information on which you base
your investing decisions?

Mr. A: I often use information gained from news, magazines, or trading
groups when making investment decisions.

Financial advisor: What are the type of stocks you think have high potential
for growth?

Mr. A: 1 assume that small firms have earned abnormally high returns over
long periods of time, so I prefer them.

Financial advisor: You bought 100 shares of company XYZ for 40 per
share. In the following trading period the share price declined by 15% to 34.
As an investor, you decided to keep your position for some more time. On
the following day, the share price increased to 46, what will you do?

Mr. A: 1 will immediately sell my investment position to book a gain.
Financial advisor: Assume that a coin has been tossed 3 times and every

time head was tossed. If you have to stake INR 1000 on another toss, what
would be your choice? Heads, tails or no preference?

Mr. A: 1 think, head will be tossed again.

e 9

1
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stock market?

Mr. At 1 think that market goes up on the day of Diwali as it is an auspicious

day.
Financial advisor: Any specific time period you think you should avoid
investing in stock market?

Mr. A: I believe that stocks do not perform well on first week of the day and
last month of the year.

Financial advisor: What is your take on Initial Public Offer?

Mr.A: 1 believe that its initial offering price helps to earn excess returns as

investment banks arranging the IPOs are often incentivized to set a low price.
[10] [CO2]

Q.2 Alice is an investor with a moderate risk tolerance who is considering
constructing a portfolio consisting of two assets: Stock X and Stock Y.
She has estimated the expected returns and standard deviations of each
asset as follows:

Stock X: Expected return = 10%, Standard deviation = 15%
Stock Y: Expected return = 8%, Standard deviation = 10%
Alice believes that her risk perception is influenced by behavioral biases,

particularly loss aversion, and as a result, she adjusts her risk
perceptions for each asset:

. For Stock X, Alice believes that due to loss aversion, the perceived
risk is 20% higher than the traditional estimate.

. For Stock Y, Alice believes that her risk perception is accurate, so no
adjustment is made to the traditional estimate.

Given Alice's risk aversion parameter (A) of 0.7, calculate:

(@) The revised estimate of risk for Stock X based on Alice's perception.

(b) The optimal weight for Stock X in Alice's portfolio using the
Behavioral Portfolio Theory formula.

(c) The optimal weightf for Stock Y in Alice's portfolio using the
Behavioral Portfolio Theory formula.

(d) Explain the difference between modern portfolio theory and behavioral
portfolio theory. [10][CO1,C0O5]

P AR08 00060 ddd
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7 Q.3 Explore the consequences of excessive trading on investmedt

performance and portfolio management. Identify and explain the
behavioral biases that lead to excessive trading behavior?

(b) Discuss strategies for mitigating excessive trading tendencies and
promoting more disciplined investment behavior among individual
investors. [10][CO3,CO4]

OR

(¢) Imagine you are an investment advisor for a group of individuals who
are concerned about the potential impact of behavioral biases on their
portfolios, especially during periods of market turmoil. Using insights
from behavioral finance, develop a comprehensive risk management
strategy to help your clients navigate market crashes and preserve their

wealth. Also suggest quantitative parameters which you will use to help
your clients to identify Stocks with Durable Competitive Advantage.

[10]CO4]

Q.4(a) An investor is given an opportunity to take one of three prospects. The
first prospect (A) offers a sure $100 gain. The second prospect (B) offers
75% chance of winning § 12000 and a 25% chance of losing $ 1000.
The third prospect (C) offers a 50-50 gamble for a $2500 loss or a
$70000 profit. Which option should be opted for a EV theory?

(b) Investor’ utility function is u(w)=Vw, w is his wealth. Describe his
attitude to risk and show how he would evaluate the prospects above
and choose between them.

(c) Is there any difference in opinions as per expected utility theory and
prospect theory?

(d) Investor is willing to get atleast $100 for choosing B or C. Help him in
evaluating the prospects above and choose between them.

(¢) Think of a Rs 100 lottery ticket that offers an objective 0.001%
probability to win a Rs. 5,000,000 prize. Will you buy the lottery ticket
as per expected theory? Does expected-utility theory predicts that we
are willing to buy the ticket? [10] [CO1,CO3)
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Q.5 D td. has 4,000,000 shares in issues and G td, has 12,000,000 The

tollowing details are available for the time period day 1 to day 12

o Day 1. The market value per share 1s D Itd, < 4 and G ltd. - 6

o Day 2: The directors of G ltd. decide at a private and confidential
meeting to a cash bid for D ltd. at a price of 6 per share with a
settlement day of day 16. The take-over will result in large operating
savings with a present value of £10.4 million.

o Day 6: G ltd. publicly announces an unconditional offer to purchase
all the shares in D Itd. at a price of 6 per share. Details of the large
operating savings are not announced and are not public knowledge.

e Day 12: G Itd. makes a public announcement of the operating savings
which will be realised from the take-over

Assuming the market is semi-strong form efficient, calculate and explain
the day 2, day 6, and day 12 share prices of D Itd. and G Itd. [S[COS5]

(b)

Consider a hypothetical stock, XYZ Inc., which has exhibited a
consistent upward trend in its price over the past six months due to
positive investor sentiment. The stock's current price is $100 per share.
Assume that according to traditional asset pricing models, the stock's
fundamental value is $90 per share. However, due to behavioral biases,
investors have bid up the price beyond its fundamental value. How
would you explain this scenario using the principles of the Behavioral
Asset Pricing Model? Given the current market conditions and the
prevailing sentiment among investors, what do you expect to happen to
the price of XYZ Inc. in the short term? Explain your reasoning based
on the concepts of outlined in the Behavioral Asset Pricing Model.

[5][CO3]

END
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Corporate Mergers, Acquisitions and Restructuring

Time: 03 Hour Max. Marks: 50

Note: All questions are compulsory.
Assume suitable missing data, if any.,

Q.1 Read the aftached case of Tata Motors’

acquisition of Daewoo
Commercial Vehicles Company anc

{ answer the following questions.

[CO3,4]  [10+10+10 Marks]
° What are the strategic interests of the

acquirer and target?
° Justify the price paid by Tata’s.

sful in acquiring Daewoo's commercial
vehicle company?

Q.2 What are the objectives for acquiring cross-border Corporations?

. [CO1] T[10 Marks]
Q.3 Differentiate between ' [CO2] [5+5 Marks]
* Partnership and Alliances

° Vertical and Horizonta] mergers
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MBAFM 222 Financial Modeling and Forecasting
Time: 03:00 Hours Max. Marks: 50

Note :Answer any TWO questions out of question no. 4,5 & 6
Questions 1,2 and 3 are compulsory

Marks are indicated along with the questions

Assume suitable missing data, if any.

financial/scientific calculator is allowed.

Q1. Answer True or False with brief explanation (1 Mark each)

a)  According to the Black-Scholes model, as the volatility of the
underlying stock increases, the value of a call option increases.

(CO3)

b)  Astheuncertainty about the expected cash flows increases, the value
of an asset increases. (CO3)

¢)  The cost of debt is generally higher than the cost of equity for most
companies. (CO3)

d)  Changes in the cost of capital can impact a company's investment
decisions and overall financial performance. (CO3)

¢)  Forecasting future cash flows is a deterministic process that provides

a precise estimate of future financial performance. (CO3) =

f)  Debt can be a cheaper source of financing compared to equity
because interest payments are tax-deductible. (CO3)
g)  Debt in the capital structure can provide leverage, which can amplify
returns for equity holders when the return on assets exceeds the cost

of debt. (CO3)
h) If the correlation between two variables is zero, it means no
relationship between the two variables. (CO3)

P.T.O.
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and variance of the data varies over time., (CO3)
J)  Panel data are data on one or more variables collected at the same
point in time. (CO3)

Q2 Company XYZisa growing tech company that is planning to go public.
Following are the brief financials of the company —

(CO2) (10 Marks)

| | | Operatingf 7 Tax 7 WC7
YearRevenue COGS Expenses ;Depreciationj Ratei CapEx|Changes
1 18100 Is30 s20 810 sw%lss sz |
218120 835 |s25 512 25%fss |52 ]
28150 840 [0 sis — oswalss sz

—— e

. 7 - , e

o d L — | Yer3(Eaq)

N C [Cash 850

N O ee— ———— —

- i_/}gwunts_l_(gg o N EO o

,@\’UITI(E}" . o {E—ﬂ_i
| - P e ————————
Total Assets —_—  [8200 —
Jdotal Liab. 380
[Total Equity - 1$120 -
Additional Information: -

Comparable P/E ratio: 15
. Industry ROE: 12%

. Discount rate: 10%

. Terminal growth rate: 5%
a) Calculate the Free Cash Flows to the Firm (FCFF) for cach year.
b) Calculate the Terminal Value (TV)

growth rate of 5%,

¢) Calculate the Enterprise Value (EV)
d) Calculate the Equity v
¢) Calculate the p/gz

at the end of Year 3 using with a

atthe end of Year 3.
alue (EV) at the end of Year 3.

ratio for Company XYZ at the end of Year 3.
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tor $500,000. The equipment has a useful life of 5 years and will be
depreciated using the straight-line method with no salvage value. The
company can either lease the equipment for annual payments of
$120,000 or borrow $500,000 at an interest rate of 6% per year for 5
years with annual payments. (CO2) (5 Marks)
Additional Information:
The corporate tax rate is 25%.
The cost of capital for the company is 10%.
Assume that lease payments are made at the beginning of each year.
Assume that borrowing costs are tax-deductible.

Determine whether it is more cost-effective to lease or borrow to acquire

the equipment. The decision will be based on the present value of
cash flows for each option over the S-year period.

b) Briefly explain key differences between ARCH, GARCH and E-
GARCH model. (CO3) (5 Marks)

Q4 Explain the key assumptions related to linear regression along w
issues that may arise on violation of those assumptions.

(CO1) (10 Marks)

ith the

Q5 Write a short note on the following;

a)  Black Scholes Option Pricing Model]

' (CON) (5 Marks)
b)  Financial Risk Models

(COD) (5 Marks)

the various line items of balance sheet and P&L

b) (CO3) (5 Marks)
thing techniques.

(CO1) (5 Marks)

Write a short note on types of exponentia] SmMOo
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MBAMK 212- MARKETING ANALYTICS
Max. Marks: 50

Time: 3:00 Hours | |
Note: Attempt any five questions. All questions carry equal marks.
Assume suitable missing data, if any. R l

marketing

Q.1 a) Descriptive analysis derives insights based on
mine the

anding of the context of the metrics. Exa

manager’s underst

statement [5][COT]

b) List down any five data mining methods, and their algorithm, and
: [5][CO2]

learning types.
Q.2 a) Differentiate between data mining and statistics. Provide suitable
[5][COZ]

examples.
think of

b) For which product categories, the brands must
multidimensional maps? List three potential dimensions of the following
product categories for constructing a perception map: i) sports utility
cars, ii) energy drinks [5][C01]
Q.3 a) A retailer is interested in analyzing how much price elastic its
private label is in Ketchup cagegory. Ketchup category is generally
marked by a few national brands in India like Kissan, Maggie, Heinz,

and Del Monte; the category is also categorized by high brand loyalty.
How will you choose choice models to provide elasticity analysis to
retai!er? How will you set up the data — what data data you will need
from the retailer and at what unit of analysis? - [5][CO3]

b) Expla_in conjoint analysis in detail with suitable examples.
- [5][CO3] | | - ‘

Q.4 a)- What is revenue management? Explain the areas in which its
usage is most suitable, with examples. [5][CO4]



b) Imagine that you are the head of o company that rnn-lulf:u,tf;rei; ',:;1:] :
cost jewelry, whose main consumer base is the lnwg middle .L nl-,l. ‘

the middle class population of India. What nmrkctmg mix wc:u (“)(HI )
use? How would you collect relevant data and analyze it? [5][COA]

Q.5a) Which brands are you loyal to as a customer? Decipher the CTIT]L’HI |
touchpoints and the appropriate KPIs. [S][COA4]

b) How do retailers like Shoppers Stop improve their cross-sell rate? Can
it reliably determine its chum rate, cross-sell, and upsell rates? What can
be the challenges in reliably measuring churn rate? [5][CO4]

Q.6 a) What are the concens about using Al in marketing? Explain with

suitable examples from products marketed with Al techniques (e.g.,
credit approvals, or movies recommended) [5][CO2]

S given you
reat to you, you
home page. Answer this
State Bank of India.

b) How do you decide your home page if your design team ha

there home page designs, all of which equally look g
believe them to be better than your current

question if you were the marketing manager of

[5][CO3]
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COURSE TITLE Business to Business Marketing

Max. Marks: 50

Time: 03:00 Hours - X.
Note: Attempt any Five Questions.
All questions carry equal marks.

Assume suitable missing data, if any.

Q.1 What are the major differences between B2C and B2B marketing?

Highlight the important marketing challenges emerging out from

such differences. [10][CO#L1I]

Q.2 Assume yourself as the Vice President-Marketing of Neo
Technologies limited. The company provides photocopy solutions to
all kind of business buyers. The price of the product is highly

competitive. The company also provides onsite warranty for five
years which is significantly more than the other players in the
industry. Design a suitable segmentation, targeting and positioning
profile of the customer. [10] [CO#II, ]

Q.3 Differentiate between Product Life Cycle and Customer Life Cycle.
What strategy would you like to suggest for a B2B brand which is n
the maturity stage of its life cycle? [10][CO#L 1]

Q.4 What are channel management decisions? Explain the conflicts that

can emerge in managing the distribution channels in B2B context.
[10][CO# 111]

Q.5 “Arriving at a just price is one of the biggest challenges to all B2B
marketers”. Comment by taking any suitable example. [10] [CO#III]
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Dedicated Freight Corridor Corporation of India Limited (I ! - o
is a Public LSCL-;(,[- Undertaking which undertakes planning, ¥

mobilization of financial resources and construction, mvnm‘.'m".nncc‘ﬂ
and operations of the dedicated freight corridors. l he _I)H'( IL Ltd. %

has been given the responsibility to construct, maintain and haxjdlc .
the operations of two corridors in the first phase. Easter g«)mdnrt-

which runs from Ludhiana to Dankuni via Dadri-Khurja link andﬁ__
Wester corridor from Dadri to Jawaharlal Nehru Port with all©
attached infrastructure so that Indian Railways and other operatorsg—
can operate their freight trains.

-

The company has recently hired professionals in marketing and __
operations domain to onboard various exporters, bulk freight®"
carriers, container shipping companies, coal, cement, fertilizers, Iron___
and Steel suppliers along the corridors for a speedy, safe and timely"‘»'-' ’
movement of frights which otherwise is an expensive, time _

consuming and long process through other networks and mode of “
transportations.

Uk

Design a suitable promotional campaign to attract business ©
customers and explain in detail the Custo
Marketing (CRM) which you feel
businesses.

mer Relationship_,;\
will be effective in such “-

.

‘ 1?! \ "’ 4 £ Vi =\ y 5
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Une Case-A- Munshi Panna Masali

Uy e year 1940, Two Brothers - Shel Munshi Lal Ji and Shri Panna Lal Ji staned
0 l shop in the always buzzing Rawat Pada, Johri Bazaar, Aygra, Uttar
ceeacsh, Indio and traded different types of spices in the historical city, After 60
voare, i the year 2000, Munghi Panng Masala Udhyog Pyvt, Ltd, was established
vader the prestigious brand name Munshi Panna Spices. Shri Vishnu Kumar
oyel, son of Shri Panna Lal ji, took charpe of the business as the Chairman of
Mauashi Penna Spices. [is mission is to provide the finest quality spices that not
just deliver the authentic taste, but also various health benefits, Shri Nitin Goyal,
ae elaer son of Shri Vishnu Kumar Goyal is the current chairman of Munshi
canna Spices, In the year 20006, he built a strong network of 200 distributors with
gow w ospread the company’s reach beyond Agra across various nearby
clericts. “Now we wish 1o take health benefits products of Munshi Panna Spices
w0 e merkets of Nepal or Bangladesh, and Currently, we are discussing with our
—coeuient, So as to enter which international market ‘First’,” said Nitin Goyal.

Zesed on the assumed Use Case-A- Munshi Panna Masala. Answer following
C=01,0-62,0-03 and Q-04,

w-01- Suppose you are the International Market Consultant to Munshi Panna
sizsela Udhyog Pyt. Ltd.. Which market you will suggest to Shri Nitin Goyal,
Chairmizn, Munshi Panna Masala Udhyog Pvt. Ltd. to enter ‘First’ with the
nsalih benefits products? Give suitable reasons. [CO1, CO2] (10 Marks)

0-02- Briefly describes how Shri Nitin Goyal, Chairman, Munshi Panna Masala

Udhyog Pyt. Ltd. will be managing Product Line in international market?

[COL, CO2, CO3] (10 Marks)



J%\“Ha ()\\\ NIRTIY Channels for In€
Q-03- Explain the importance of International Distribution .17

td. in international
success of products of Munshi Panna Masala Udhyog Pvt. l,td:‘ }n | piiwurr
ket [COl, COZ, CO3] (10 Marks)
market? 7

. . o ness of Munshi
Q-04- How International Marketing Environment will uffccht husmgﬁ ]Cofmq-zm |
Panna Masala Udhyog Pvt. Ltd. in international market? [CO1, CO2] ( el

Use Case-B- Funskool India Ltd.

Toy manufacturer Funskool India, part of tyre major MRF Group, ha‘s LaK’ST!: :
expansion at its manufacturing facilities in Tamil Nadu to make India a gio le
hub for toy manufacturing. "Funskool India has experienced remarkabl.e 55 ’
over the years. With this expansion, we solidify our position as a leader _“7 Tnfﬁ»
toy industry and move closer to our goal of transforming India into a gl@‘??-l i
for toy manufacturing” Funskool India Ltd Chairman Arun Mammen szid aﬁe*
inaugurating the upgraded facilities. "Our commitment to the Make in Indiza
initiative is stronger than ever. This expansion not only meets the manufacturing
needs of rising domestic demand but exports as well," Funskool India Ltd. CEC
R Jeswant said. With the expansion work, Funskool India would take uz
production of a wide range of toys including both plastic and wooden varieties.
"A dedicated wing within the expanded campus has started focusing on the
manufacturing of wooden toys, aligning with Funskool's strategic growth
objectives," the statement said. “Canada will be Funskool main source of
revenues and We are researching on ‘International Promotion Mix’ and ‘Pricin

=

EJ
for Funskool’s products for the Canadian market,” Funskool India Ltd CEO =
Jeswant further added.

Based on the assumed Use Case-B-Funskool India Ltd. Aunswer followinz O-
05, Q-06 and Q-07. T

Q-05- Briefly describes how Funskool India Ttd. will b

e designing ‘Internationai
Promotion Mix’ for the Canadian market? e

[CO1, CO2, CO3] (10 Mearks)
Ltd. will be implementing ‘Priging
upport of suitable €xamples? i
[CO1, Co2, CO3) (10 M

Marketing Research’
dia Ltd.?

Q-06- Critically analyze how Funskool India
Strategies’ in the Canadian market, with the s

| | arks
Q-07- Explain the importance of ¢ |

international markets for Funskoo] In for idemif}”lﬂg new

[CO1, CO2] (10 Maris
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MBAMK 224 Customer Relationship Management

Time: 03:00 Hours Max. Marks: 50

Note: All questions are compulsory
‘Marks are indicated along with the questions.

1. In 2015, Tim Cook, CEO of Apple, found himself at the center of a
12d debate on encryption, privacy, and security. Apple's 2014 release of

8. with its strong default encryption, prevented both Apple and law

A
_—
e

czses. James Comey, Director of the FBI, called on tech companies to
provide a "backdoor” to circumvent encryption for investigations. Cook
nd many tech experts countered that such a backdoor would weaken
security and put user data globally at risk. As the debate intensified, Apple

d i0S 9 in 2015 with even stronger encryption.

The conflict reached a peak in 2016 with a high-profile court case. In
February, a federal judge ordered Apple to provide technical assistance in
;;r;i'/,;'/,,?ng the iPhone belonging to a suspected terrorist involved in the San
tf:-':rr,-ardim shooting, where ‘14 people were killed. The iPhone, running
105 9, couldn't be accessed without Apple's help. Cook, unwavering in his
// oT) privacy, refused to comply. If you were Tim Cook, would you
x’, :*,rf; FEI unlock the San Bernardino shooter's iPhone? Explain your
cecision, considering both the potential benefits for public safety and the
1 4



o - & (2 - ihilities to
isks t 'ﬁcyl/l‘)oes C%%‘lg' éwc additional responsib
rsks o user privacy. S
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Q2 A video game developer is launching a new onhn? gaxn;r’:;t;e:
subscription model. How can the game dCVCIOp.cr ]cvcrﬂfgclﬂ c long-
related to customer acquisition and customer retention to ensure th o g
term success of their subscription model? (CO2)(10 Marxs)

Q3 Imagine you are a manager in a mid-sized retail company plannmg 0
implement a customer relationship management (CRM) system. Outline
the specific benefits that your organization can expect fro.m CRM
implementation and provide examples of how CRM practlces. and
technologies have transformed customer interactions and business
outcomes in similar retail settings | (CO1) (10 Marks)

Q4 Answer any two:

a). You've been tasked with overseeing the launch of a new marketing

campaign for a multinational retail corporation. Describe your approach to
campaign management, considering the different

types of campaign
management systems available.

(CO4) (5 Marks)
b) You're the Marketing Manager for a heal
your strategy for segmenting the user base
and promotions effectively. Discuss the spe
you would use to create distinct user segm

the most promising segments for térgete
Marks) ' - :

th and wellness app. Describe
to tailor marketing campaigns
cific criteria and data variables
ents, and ho_w you would select
d marketing initiative (CO3) (5
¢) Contrast the traditional marketing

focus with g Customer experience
focus in the context of 3 retail business

: e (CQ4) (5 Marks)
Q5 Write short note on the following (Any Two):

a)  Sales Force Automation

(CO4) (5 Marks)
- (CO3) (5 Marks)
(CO3) (5 Marks)

b) - Customer Centricity
¢)  CRM System

a7,

Xk

)

Y
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Note : All questions cimy equal marks
Assume suitable missing data, if any
Altempt any 5 questions

SOU I SO b ot

Q.1 How has the role of HR managers evolved in the context of mcreasing
digitization and automation in the workplace, and what strategies can HR
managers employ to adapt to these changes while continuing to add value
to their organizations? (10}{COI}

Q.2 Considering the impact of globalization on businesses, discuss how
HR strategies and practices need to evolve to effectively manage a diverse,
global workforce. Provide examples of multinational companies that have
successfully adapted their HR practices to accommodate globalization

e

[10}{CO2]

Q3 Imagine you are an HR manager tasked with revamping the
performance evaluation system of a medium-sized company. Develop a
plan that includes the selection of performance evaluation techniques, the
rationale behind your choices, and how you would implement and
communicate these changes to employees and managers Consider the
challenges you might face and how you would address them

[10J{CO3]
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Jisc e different types
Q.4 Define HR audit and explain its yenefits. ]-)lS[iv“Tt;::g Bt b

[10][CO4]
and key components.

Q.5 Develop an HR scorecard for a large manuf:xcturlflg ‘«:’"":‘rl(-’{lfzf{‘otl}l‘?';
has recently undergone a restructuring process. The scorec: ””.:m’m
include key metrics related to employee engagement, mlcnt'aC}J- '!Acl;
training and development, and diversity and inclusion. Explain how ea d
metric is relevant to the organization's strategic goals and how you woulc
use the scorecard to measure and improve HR performance

[10] [CO5]

Q.6 Discuss the objectives of performance management and how tkje;/
align with organizational goals. [10][CO3]

Q.7 Discuss how the Balanced Scorecard can be used to mo

nitor and adjust
the company& strategic performance in g dynamic global

market.

[10][CO3]
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COURSE CODE MBAHR 224
COURSE TITLE HR ANALYTICS

Note: ATTEMPT ANY FIVE QUESTIONS

All questions carry equal marks.
Assume suitable missing data, if any.

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

An HR head of a large organization declared that he uses HR ‘amal.yti.cs to
validate his intuitive HR decision-making. For him, HR analytics is Ju.st a
process of complicating HR decision-making. With intuitive HR decision-

making, he can solve critical HR issues. What would be your advice to this
HR head, and why? [10 MARKS] [CO1]

How is Artificial Intelligence shaping Human Resource Management?

[10 MARKS] [CO2]

Discuss the candidate ranking system using an analytical hierarchical

process (AHP) with suitable examples. - [10 MARKS] [CO4]
What is HR Dashboard? How does it help in HR-related decision-making?
Explain with suitable examples. [10 MARKS] [CO 4 ]

Explain the process of churning data and information for HR predictive
analysis. [10 MARKS] [CO3]

You have been asked by your organization to design an employee
engagement programme to reduce the current leve] of employee attrition.

What dataf analysis may be required to design such a programme? While you
answer this, also give your logic for choosing the data.

[10 MARKS] [CO 2]
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COURSE TITLE TRAINING AND DEVELOPMENT

Time: 03:00 Hours Mox Morks: 50

Note: ATTEMPT ANY FIVE QUESTIONS

All questions camry equzal marks
Assume suitzble missing datz. i a2nv.

Q.1
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Q.4 List out some of the diversity training programmes and design a one-day
training programme on diversity issues. [10 MARKS] [COA4]

Q.5 Explain the concept of CBT. How is it different from the training with
multimedia? Can CBT and multimedia be integrated? [10 MARKS] [CO1]

Q.6 Discuss the concept of Management Development. Elaborate the important
components of Management Development Programme.

[10 MARKS] [CO 5]
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Time: 3:00 Hours Max. Marks: 50
Note:Question 1 is compulsory. Attempt any fo

questions. Assume suitable missin

ur from remaining six
allowed.

B data, if any. Use of calculator is
Q1. In parts i to iii, write the correct option.

(CO1,C02,C03)
1. The dependent variable in multiple linear regression can take
categorical values: TRUE/FALSE

1 Mark
1. R square can take values in the range:

(@)-1tol (b) -infinity to infinity (c) can be positive or
negative (d) 0 to 1

1 Mark
1ii. If a sample is completely heterogeneous, its entropy is:

(@)0 (b) 1 (c) 2 (d)between 0 and } 1 Mark
1v. Suppose total number of predictors = 25, how many predictors

are considered as split candidates while forming decision tree
using random forest

1 Mark
v. A data mining algorithm applied to a dataset has classified 80
records as fraudulent (20 correctly s0) and 960 as non-fraudulent

(930 correctly so0). Construct confusion matrix and overall error yf&;
rate.

2 Marks \
vi. Illustrate any 2 diagnostics checks for Multiple Linear yo
Regression. 2 Marks é
vil. Define two Measures which reflect accuracy of a fitted
model

2 Marks
Q2. (a) Twenty five Students of a B-School are gouped in.tod4
clusters based on (work experience in months, marks in an aptlzt;zze
test) as Cluster 1: {(11,12), (11,13),(11,12), (10, 14), (11,12),

(11,14), (10,12), (11,14)} ; Cluster 2: = { (12,21), (12,20), (13,19),
(12,19), (13,23)};
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(14,29); Cluster 4: {(0,20), (0, 19), (5, 21), (3,18), (6,19)}. Consider
a new student with 15 months of work experience and 10 marks in the
aptitude test. Using a suitable distance measure, determine the cluster
to which this new student should be assigned. (CO2) 5 Marks

(b) Define ‘Different(x;, yi)' function to measure distance in case of
categorical variables. Use this function on the data in following table
(1) without normalization (ii) with Min-Max normalization (MMN)
(i1i1) with z-score normalization to find out which player should be
considered as more similar to a 30-year-old male. Justify which type
of normalization should be generally preferred while dealing with mix
of categorical and continuous variables. (Assume that for Age
variable, the range is 20, the minimum is 15, the mean is 25, and the

standard deviation is 10). (CO2) 5 Marks
Player | Age | Agemmn | Agezscore | Gender
A 30 ? ? Male
B 18 ? ? Male
C 30 ? ? Female
Q3. [i] On the following data, compute smoothed values for the

Weeks 2 to 6 by applying:

(a) exponential smoothing method using W (smoothing
coefficient) = 0.1
(b) Moving Averages method using L (length of period) =3

(c) Compare the accuracy of these two methods using a suitable
accuracy measure.

Table: Gasoline Sales Time Series

Week Sales

' (1000s of
gallons)
17

21

19

23

18

16

20

Fqc\m-BDJNH

(CO3) 6 Marks

mbers of people (in millions) per
state of India.

[ii] The following table shows the nu
year who use public transport in ‘X’

Page 2 of 4
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003 12004 |2005 [2006 |2007 2008 12009 [2010 [2011 2012"
” - - ) ————— —— - - n— ,’4‘ — ) v .‘,4. -
b3 34 36.5 | 405 |46 53 615 |71.5 |83 O¢
3 . . 6 .5 |83 |

Use method of differences to identify the growth pallm:n‘zmd propose
a suitable model for the purpose of forecasting. (CO3) 4 Marks

Q4. The following 1s a training set D taken from a customf:r database.
Show, in a table, all candidate splits that CART algorithm _wolfld
evaluate for the initial partition at the root node. Compute opuma.llty
measure for Age=Youth and Income=High. Show all intcrmcdmtc
calculations. Assuming optimality measures for all other candidate
splits are lesser in value, which of the above two shall be chosen as
initial split for forming a decision tree. Show the tree after initial split.

(You have to do only the asked calculations and identify the attribute
which form root of the tree, show the resultant braches and stop).

(CO3) 10 Marks

ID | Age Income | Student Credit_ra | Class: buy
‘ ting iPhone
1 Youth High No Fair No
2 Youth High No Excellent | No
3 Middle aged | High No Fair Yes
4 Senior Medium | No Fair Yes
5 Senior Low Yes Fair Yes
6 Senior Low Yes Excellent | No
7 Middle aged |Low Yes Excellent | Yes
8 Youth Medium | No Fair No
9 Youth Low Yes Fair Yes
10 | Youth Medium | Yes Fair Yes
11 | Youth Medium | Yes Excellent | Yes
12 _|Middle aged |Medium |No Excellent | Yes
13 | Middle aged | High Yes Fair Yes
14 | Senior Medium | No Excellent | No

QS. Consider an undirected network for individuals A, B,C D, E
and F on LinkedIn. A is connected to B, C an

' d D. B is connected to A
Cand D. C is connected to A, B,and D. D is connected to A, B, C
and E. E is connected to D and F. F is connec

ted to E. (CO4)
(a) Produce a network
connected? etwork

2 Marks

graph for this network. g this n

Page 3 of 4



\ ¢ granh for the
() What node(s) would need 1o be removed from th graph for the
remaining nodes to constitute a chque?

2 Marks
(¢) What is the degree for node D? 1 Mark
(d) Which node(s) have the lowest degrece? I Mark
(e) Tabulate the degree distribution for this network. 2 Marks
(f) Calculate the density of the network. 2 Marks

Q6. (a) A faculty co-ordinator is assigned with
improving placement of students in
forms a team of students from div
in the team as specialist in Analy

the responsibilty of
a B-School. The co-ordinator
erse backgrounds. You are selected

tics. You have access to historical
placement data of 1000 students and all other student attributes.
Suggest an appropriate method to identify 5 most important attributes
which can be considered as predictors. Suggest a step-by-step
approach for building a suitable model based on identified important
predictive attributes with target attribute as Placed (P) or Not Placed

Id be able to classify students of a new batch in

terms of their likelihood of getting placed or not.

7 Marks
(b) Based on the model, suggest changes to be made In the existing
MBA programme for iImproving placement. 3 Marks

(CO1, CO2, CO3)

(CO1, CO2, CO3)
10Marks

Q7.Write short notes op any two of the following;

(a) Method used by Random Forest to build a mode]
(b) Components of Time Series

(c) Key Challenges pertaining to Data Pre-Processing in a Data
Mining Project

Pare 4 ~f a
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IV SEMESTER 25 MBA

END TERM EXAMINATION May-2024

MBAAN-218 BIG DATA ANALYTICS

Time: 03:00 Hours Max. Marks: 50

Note : All questions carry equal marks.
Assume suitable missing data, if any.

Q.1 Discuss four differences between Relational and NoSQL Databases
[10 Marks][CO#1]

Q.2 Explain the differences between Apache Kafka and Apache Spark.
[10. Marks][CO#3]

Q.3 What are some common benefits of running Hadoop in the cloud?
[10 Marks][CO#2]

Q.4 Explain the CAP theorem. [10 Marks][CO#3]

Q.5 What is crowdsourcing? Discuss its applications.
[10 Marks][CO#1]
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END TERM EXAMINATION

COURSE TITLE: INTERNATIONAL LOGISTICS MANAGEMENT

Time: 03:00 Hours

- A9
A9

(IV) SEMESTER

MBA

COURSE CODE: MBASC220

VAY-

Max. Marks: 50

2024

Note: Answer any FIVE questions.
All questions carry equal marks.
Assume suitable missing data, if any.

Se—

Q.1

Q.3

Q.4

(a)Explain the common risks encountered by logistics
and supply chain management. How does logistics and
supply chain management resilient?

(b) In what way do supply chain flows affect the success
or failure of a firm such as Amazon? List two supply
chain decisions that have a significance impact on
supply chain Profitability.

(a) How are transportation management, warechouse
location and management, and materials handling
concepts related to each other? Give examples to

illustrate your discussion.

(b) Make lists of the common inbound and outbound
international logistics functions. Which functions are
common to both outbound and inbound movements?

(a) Raw teakwood is to be exported from Malaysia to
India in bulk. Which mode of transport would you
recommend? What are the advantages and
disadvantages of such a mode?

(b) Explain Multimodal Transportation system and its
advantages in International Trade.

(a) What do you understand by the containment and
protection function of packaging? Give examples for
different categories of products.

[5] [CO1]

[5](CO2]

[5] [CO3

[5][CO1]

(51 [CO3]

[5][CO3]

[5] [CO4]



Q.6

017

KA 2E

(b) Discuss the criteria for selection of material
handling system for a Warehouse.

(a) Explain the concept of order accuracy and its
importance as a KPI for measuring logistics efficiency.
(b) Explain the difference between absolute advantage
and comparative advantage in the context of
international trade.

(a) Discuss the significance of customer satisfaction as
a KPI for measuring logistics efficiency. How can
logistics operations Impact customer satisfaction

levels?
(b) What is the relationship between marketing and

logistics? Quote the suitable example to prove the
relationship

(a) Describe the role of tariffs and quotas in
‘nternational trade and their impact on trade patterns.

(b) Describe the role of technology in transportation
and distribution management?

[5](CO1]

[5]1 [CO5]

[S][CO2]



4™ SEMESTER EMBA

END TERM EXAMINATION May-2024
EFM 01 Sccurity Analysis & Portfolio Management
Time: 03:00 Hours

Max. Marks: 50
Note : Answer any 5 question. All questions carry equal marl

Assume suitable missing data, if any.

Q.1 A) Young people with little wealth should not invest money in
risky assets such as the stock market because they can’t afford to lose
what little money they have. Do you agree or disagree with the
statement? Why?

B)The following are the historic returns for Charlie Computer

company: B

| vear | Charlie computer | Market Index

L1 137% 15% |
12 | 9% 13%
13 |-11% 14% |
| 4 | 8% -9%

|5 111% 12

Based on the above compute the following and comment on the

result: a

a) The return and standard deviation of the Charlie company as well  ~
as market Index.

b) Beta of the Charlie computer company

[5+5][CO1,3]

Q.2 A) What is the value of a 9% coupon bond with a par value of
Rs.10000 that matures in 10 years, if your required rate of retum is 7%
return? Use semi-annual compounding. What would be the value if your
required rate rises to 11% p.a.

B)The BBC company earned Rs. 10 per share last year and paid a

dividend of Rs.6 per share. Next year you expect BBC to earn Rs.11
per share and the dividend payout ratio would remain the same. At
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Q3 Ata lunch with some business associates, You discuss the
reason for the relationship between the economy and the stock
market. One of your associates contends that stock prices typically
turn before the economy does. How would you explain this
phenomenon? Additionally, some associates contend that it is harder
1o estimate the effect of change in interest rate on common Stocks

than on bonds. Discuss this contention t0o0.
B) Select any onc industry of your choice, indicate what economic

series would you use t0 predict the growth of that industry. Also
discuss why this economic series is important for this industry.
Further analyse the impact of substitute products on the profitability

of the chosen industry.
[5+5][COl 3

Q.4 A) “Analysing risk-adjusted returns helps in comparing the
performance of different mutual funds with similar investment
objectives and asset allocations”. In this context briefly explain any
four measures of portfolio performance, highlighting their limitations
and benefits.

B) The following are the data on two Mutual Funds:

Fund Return%  Beta
SBI 14 1.40
HDFC 16 1,50

Co ; - .
mpute their Volatility ratios and rank them using appropriate

measure of performance, if 1
- 3 thc nsk" 1 *
choice of that method, free rate is 6%. Also explain the

[5+5]{CO4]
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next 2 vears. Bonds currently yield 8%.

1. Broefly explam the concept of Duration?
lculate the present value and duration of your obligation?

f.
)
E.a

c. What mamumrity zero-coupon bond would immunize your

cbligation?

¢. Suppose vou buy a zero-coupon bond with value and duration

our obligation. Now suppose that rates immediately
mcrezase © 9%. What happens to your net position, that is, to the

drfference between the value of the bond and that of your tuition
atligation? What if rates fall to 7%?

SGual o

LS )

[2.5x4][CO2,4] |

o
O

5) Write short notes on any two: (max. 500 words)
z2) Fundemental analysis vs technical analysis

o) Simple moving average vs Exponential moving average

c) Du Pont Analysis

d) Porter’s five forces Model for analysing the industry.

2} Value investing vs Growth investing

[5+5][CO1,2,4]
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IV_SEMESTER
EMBA
END TERM EXAMINATION May-2024
COURSE CODE__EFM 10 »
COURSE TITLE_Managing Financial Institutions & Markets ’;L
Time: 03:00 Hours Max. Marks: 40
Note : ]

©

o Answer FIVE questions. Question No. 1 is compulsory. Q1

carries 12 marks ;\
Answer any four from Remaining 5 Questions. Questions 2-6
carry 7 Marks each

Assume suitable missing data, if any.

For Questions marked [Analytical based] , there are no Right or
Wrong answers. So try to attempt them. Marking will be done on
Analysis even if view is Contrarian to what is taught in Course
Book

[Chapters] Refer to LM Bhole 6 edition which has been used as
Course Syllabus Book

[Assignment] Refers to projects/ assignments submitted on Sub
Sector/ industry analysis and the classes where discussed.
Remove Pg 5 of Question Booklet and attach to answer
Sheet

Short and Crisp Answers will be rewarded. Restrict answers

to below line S
1. 2 marks Question — 6 lines Wi
2. 3 marks Question -9 lines e~

3. 4 marks Question — 12 -14Lines
Use Charts & Graphs where useful- A Picture says a 100 lines

GOOD LUCK I!!

Page 1 of 12




-
Lo
o
e
-«

‘ \'k \; \i \5 e U @ @ ¥

No Choice in this

all the following questions: (There is
[2x6 =12]

Q.1 Answer
Question — Attempt All sub parts)

Q 1. A) Write short notes on any two the following:
o Financial Innovations
e Financial Engineering

o Securitisation
[1x2] [CO 1 Class 1]

Q.1B) Analyse the features of Solvency I by filling Blank spaces
below

C% Basic objectives of Solvency I are as follows:
contained in the initial version of the

4 e To update the
insurance directives to take account of (indexation/
R insurance) and to update amounts that have been (devalued/
revalued/ Inflated) since the insurance directives were brought into

force originally;
o To provide a mechanism to ensure that solvency limits are reviewed

(weekly/ annually / monthly) by reference to the
of Consumer Prices; and

e To Empower (Regulators/ Insurers) to intervene at an Early
stage where doubts are raised about an insurer’s solvency rather than
wait for a specific breach of the solvency limits to have occurred
and to empower them to reduce the ___ (Credit/ Money) given to

reinsurances in certain circumstances.

[0.25x8=2] [CO 2 — Class 6]

Page 2 of 12



Q1. C) Under which Act was TL&ES

Q1.

The Preamble of the RBI Act, 1934 states that *Whereas it is
India to regulate the issue ol bank notes anc
in (India) and generally to operate the currency and credit system of the counlry to its advantage

qct l|||"

As o result ol [L&IS crisis, RBI took a few steps to Imcreast NI
tighten the regulatory framev

Supervision @ Sleps Were taken o
['his included

for NBECs to prevent such instances it the future
stricter norms on a) leverage !
¢) asset=liability management among NBI'Cs.
What issues did IL&FS face with
and how did they catalyse the crisis’?

atios, b) liquidity management, and

above three metrics/ paramelers

[0.5x4] [CO 2, Class5]

D) A lot of discussion is happening on P
Constitution. Lets Analyse the preamble of RBI below {RBI

Class 8}

expedient to constitute a Reserve Bank for
| keeping of rescrves with a view 10 sceuring monctasy stability
*, In this linc

the major objectives of RBI are as follows:

(1)

(i)

(iii)

(V)

(v)

(i)

To maintain monetary stability so that the business and cconomic life can deliver welfare gains of o
properly functioning mixed economy.

To maintain financial stability and ensure sound financial institutions so thot monctary stability can be
safely pursued and cconomic units can conduct their business with confidence.

To maintain stable payments system so that financial transactions can be safcly and cfliciently exccuted.
To promole the development of financial infrastructure of markets and systems, and lo enable it to
operate cflicicntly, that is. lo play a lcading rolc in developing a sound financial system so that it can
discharge its regulatory function cfficicently.

To ensure that credit allocation by the financial system broadly reflects the national cconomic priorities
and sociclal concerns.

To regulate (he overall volume ol maney and credit in the economy with a view to ensure a reasonable
degree of price slability.

reamble of Indian

0 b9¥

As per above 6 objectives — explain any 2 objectives that RBI has not met

as per its preamble. Explain with real life example

[1x2 =2] [CO3 , Class 2]
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Q1. E) Post 2008 Financial Crisis, Socialists in India & the world have
said, Tax payers are financing the Sins of Commercial Banks
profits. Here Tax payers means the Government. The table below 15
for all PSU banks in India which are owned by Gol.

Liabilities of commercial banks in India (percentage to total liabilities)

Lm!uhlh.s' ;, 5 v

Shaie Rcm 16y | DcpmlnfBbmnymgf \Othes llabilities

capital == and smplm‘ CREAGR Rre (mrl pravisions
1997-1998 245 4.27 80.96 325 9.04
2000-2001 1.47 3.75 81.48 4.27 9.00
2004-2005 1.09 5.25 78.01 7.14 8.49
2005-2006 0.90 5.67 77.70 7.29 8.43
S 2006-2007  0.85 548 7794 7.02 8.69
2007-2008 0.92 6.36 76.74 6.99 8.96
Z\{? 2008-2000  0.82 619 7756 9.04 6.37
2009-2010 0.80 6.33 78.87 8.70 5.27
2010-2011 0.82 6.27 78.17 9.40 5.31
2011-2012 0.76 6.54 77.55 10.14 4,98
2012-2013 0.73 6.65 77.47 10.53 4.59
2013-2014 0.69 6.65 77,83 10.04 4.77

Source: RBI, Handbook of Stalistics of Indian Economy.

Does the above table confirm what Socialists say about Tax payer money
or contradict it? Which metric or metrics can be used to explain your

answer and how.
[2] [CO 4, Class 4]
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Name

Q1. 1I1) RBI has tried to hieve financial inclusion by imp
following steps. Classify each of cight points as focused SUPPLY
side / DEMAND side / Not Applicable x

Attach this page to Answer sheet

(0.25%82] [CO 3, Class4]

- - - P ,-——u—-——--'
o Institutionalisation of the framework of banking cotrespondents (BCs) has been a major sicp 1o waeds !

enhancing access of banking services.

o RBI advocaled a combination of “brick and mortar’ structure with ‘mante and click” technology fox

extending financial inclusion in geographically disperscd arcas. i

o It is mandated to open physical bank branches in all villages above a poputation of 5000 & 3 phased
manner. We feel this would also enable banks (o not anly provide qualily financial services bt 380
timely support to their BC network.

o The banks were mandated to open at least 25 percent of their new branches i unberked rural cortres

o In order lo ensure that persons belonging to low-income group, both in orban and rurl mem do mol
encounter difficulties in opening bank accounts. the know your customer (K C) procedures fox openeag
accounts has been simplified for those persons with balances not exceeding 50,000 and creditz m B
accounts not exceeding 31,00,000 in a year.

o RBI also encouraged banks to adopl a structured and planncd approach o financia) inchation with
commitment at the highest levels through preparation of board-approved financial inclusion plans (FiPs).
The firs! two phases of FIPs implemented over 2010-2013 and 2013-2016 were interspersed with e
implementation of PMJDY by the Government of India during 2014-2015.

s RBI has granted in-principle approval to some entities to set op differentiated banks mamefy ‘sl
finance banks® (SFBs) and ‘payments banks' to further the cause of financis! inclusion I the comlry
Other than serving as vehicles for savings, SFBs and payments banks are expected to enhance the spply
of credit 1o small business units, small and marginal farmers, micro and small industnies and ether
entitics in the unorganised scclor and enable provisions for cest-cflicient rematance services i a secuaed

G977 LiNe

echnology-driven environmenl, respectively.

¢ Considering the strong linkuge between financial inclusicn and the payment systems, RBI has txken
several steps. Some of (hese include encouraging use of mobile banking, pre-poid mstroments ia e
form of digital wallets and mobile wallets, operationalisation of the Aadkzar bridge payment system
(ABPS) and Aadhaar-enabled payment system (AEPS) and soon.

Page Sof 12



Q.2 Answer all the following questions:

Q. 2 A) Court Case Study on Life Insurance

Late Sri Siriveri Venkateswarlu, father of the complainant, obtained two mnsurance |
policies from the opposite party — one on 05.05.2009, for a sum of Rs. 4,50,000/-, |
and the other on 22.03.2010, for a sum of Rs. 4,80,000/-. Under the said two policies, |
in the event of death by accident, twice the sum assured was payable by the

“Insurer/ Opposite Party”. In the application form of the policy, the insured had

been asked about the details of his existing life insurance policies with any other

insurer, and the insured had answered the same in the negative.

The complainant, being the daughter of the policy holder Late Sri Siriveri

Venkateswarlu, was nominated to receive the proceeds under both the policies. Civil

Appeal No.3821 of 2024 Page 3 of 48 3.3. On 28.02.2011, the policy holder
unfortunately lost his life after falling from staircase, leaving behind the complainant
alone as his legal heir as well as nominee for death benefits. Immediately thereafter,
the complainant approached the Insurer and informed about the death of her father
and they advised the complainant to submit a claim form along with necessary
documents which she did by 31.3.2011.

After many months, by letter dated 31.12.2011, the complainant’s claims were
repudiated by the opposite party. The claim of the complainant was repudiated on the

ground that the policy holder had suppressed material facts in his application
form with respect to existing life insurance policies from other insurers. Upon
investigation by the opposite party, it was found that the insured had substantial
life insurance cover with other tasurance companies, even prior to the date of
his application. After an evaluation of all facts and documents submitted and
circumstances of the case, the opposite party came to the conclusion that the
replies to the questions in the application form were incorrect, in as much as the
opposite party held documentary proof in support of the same.

It was further remarked by Insurer that the contract of insurance is based on the
principle XYZ _and the company relies on the information provided by the life
insured in the application for insurance. Thus, the claim was held to be not valid and
the liability to pay under the policy was repudiated by the insurer.

Below is a Cut out of Application form where the deceased filled answers which were

Construed by Insurer to be suppression of facts.
Page 6 of 12
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6.1 Details of applications submitted to & existing life insurance policies with future
Generali and with any insurer. (In case of housewife, major student or minor life to
be Assured please give details of husbands and parents insurance also)

6.2 Whether any proposal for life cover or critical illness Rider or Accident and
Disability Benefit Rider, application for revival of any Policy has been made to any

life insurer, declined/postponed/dropped/accepted or revived at modified rates

(1) Insurer initially delayed the claim on basis of shoddy Post Mortem
report — stating death was actually due to strange circumstances
and requested Police to undertake investigation. What principle
was Insurer using to delay/ reject claim? Please explain Principle.

Insurer was supposed to pay/ reject claim after receiving
documents within 3 months. What was the delay in months/ days?
Is such delay(s) allowed under IRDA?

(11)

(111) Which Principle is Insurer referring to in XYZ? Please explain
principle.

(1v) Do you think the Insurer was correct in its Rejection of Claim
based on the Questions 6.1 & 6.2. Please explain Yes or No

[2+1 +242] [CO 3, Class 7]

Q.3 Answer all the following questions:

A) Write Short Notes on the following RBI functions
* Open market operation

¢ Direct regulation of interest rates
* Inflation Targeting

[3x1=31[CO 2, Class §]

B) Explain how RBI’s response during three wars — 1971, 1965 & 1999
Kargil War ?

C) How did RBI respond during the Covid Crisis?

(2+21[{CO 4, Class 10]

Page 7 of 12



Q.4 Answer all the following questions:

Q4A) Borrowing Analysis of SCDBs
Table 8.12 Coniponents of total boreowings of comm
borrowings)

crcial banks (percentape to total

15 ol Barro g
e o B

L ’Hu\"ln”ﬂ;” LYY

ol
o) v Pt 2
k) o

Year 7" Borrowigs Sl RBTS ?,Btqufét;&s_;,fbiry’,qmgz‘:
: F e SR T A S

L hanks o
Ll

2005 0.06 13.99 4335 L

2006 T a2 — 2% 88 4425

2000 626 __“1‘5;0— 32.49 4’,,;,#16_':‘1’MM«
2008 567 T 106! M_
2009 248 4.29 60.87 42.34

2010 0.83 714 52.23 39.78

201 67 7.28 43.43 42.57

2012 11.63 49?2 3869 4475

2013 12,94 484 3599 4520

2014 14.76 3.61 34.29 47.31

Source: R8BI, Statistical Table Relating (o Banks In India.

From Table Above
i, Identify change in Bank’s borrowings between 2009 to 2014.
ii. What (policy/ terms) has led to increase in Share of two components?
iii. 'What has led to decrease in share of remaining two components?
[1+1+1] [CO 3, Class 3 &4]

Q 4 B)—-NPA Analysis of Commercial Banks
In tables 1 &2 below Ignore 2000-01 and look at trend between 2005-
2014.

i Which measure is better GNPA or NNPA? What is difference
between both and what does it indicate with respect to Risk

Management?
ii. Should (GNPA-NNPA)/ Advances be a metric? Calculate it for

New Private Banks & identify trend (if any)
{ii. Should NNPA/TA or GNPA/ TA make sense if Investments are
not treated at Mark to Market?
iv. Look at both tables and identify opposing trends of NNPA/
| Advances between Table 1 & 2?2 Why and how is this possible?

[1-+141+1= 4] [CO 4 class 4]

page 8 of 12
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20003001 N4 4.9 B 62 - 2.9
2008-2006 T ¥ o
20092000 T4 B = e
2010-2011 28 14 X T
011-012 X 5 - T

"ﬂh 2013 2 i —_N.: 9‘_ - 1! ) - Lll o
2013- ‘\.H-zﬁ R Y 24 21 =

Table 2

New private sector banks
GNRUAIDY . GNPATH A’:\’Rl.ﬂDl' NNBVTA  GNPUADY GNPATL NNPY/ADY. NNPATA
2000-2001 51 21 X 1.2 70 3.2 24 1.0
2005-2006 17 10 08 04 28 14 o8 0.4
2009-2010 29 16 IEE 06 38 15 1.8 0.7
~2010-2011 27 13 06 0.3 43 1.6 1.8 0.7
2011-2012 22 11 04 0.2 25 1.0 0.6 0.3
2012-2013 18 1.0 04 0.3 27 1.1 0.6 0.2
2013-2014 18 11 0.7 04 3.0 1.3 1.0 0.4

Nofes  GNPA =

Source R8BI

pross non-performing assels, ADV = gross advances, TA = lotal assets
Handbook of Statistics of indian Economy.

Q5 Ansywer all the following questions:

Q.5A)

Please write a Note on Evolution of Mutual Fund Industry clearly

highlighting

1.
1.
11.

The Four eras and their timelines
What led to change in one era to another
Key Developments in each Era
[1+1+1=3] [CO2 Class 10]

.5 B) Consider charts 1.5 & 1.6 for Questions below

1,

1.

11,

What is Insurance Density & Insurance Penetration? Please
differentiate?

In case of India what 1s approximate ration of Insurance
penetration for Non life/ Life for. Which high insurance density
nation from Among USA, UK & Sweden is this ratio similar?
Again Compare India & China on basis of Insurance penetration
Ratio of Non Life/ Life. Is ration different? Why so?

[141.5+1,5= 4] [CO3 & CO4]

Page 9 of 12
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Q. 6 Answer all the following questions:

Q 6 A) Case Study on Impact of Monetary Policy on Rupee

Following table shows performance of 3 Governors under NDA
Government since June 2014 and movement of Rupee

Table 1

RBI Governor Reign Period of Governors,hip USD/INR | USD/ INR
‘ , (@, start (@ End

R. Rajan Dec 2013 Sep 2016 61.5 66.8

U. Patel Sep 2016 Dec 2018 66.8 69.8

S. Das January 2019 April 2024 (i)? 83.3

Page 10 of 12
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Monetary-Fiscal Policy Mix and the Datermination of Exchange
Rates under Conditions of Low Capital Mobility :

Expansionary Restrictive

Monetary Monetary
Policy Palicy
: Domestic
EXpnslonary currency Indeterminate

Fiscal Policy depreclates

ks Indeterminate E&meemc
Fiscal Policy rency
appreciates

ipted from Rosenberg (1996), p. 133

Assume below while using Rosenberg Chart above

e >3.3% annual INR depreciation = “Currency Depreciation”
o 2.3%-3.3% annual INR depreciation ="indeterminate”.
o <2.3% annual depreciation is considered “Currency Appreciation”

Based on these assumptions and Rosenberg chart fill Table below

Table 2
RBI Reign Annual INR Gol Fiscal Monetary
| Governor Depreciation s | Policy s -
R. Rajan 33 Months 3.1% Expansion
U. Patel Restrictive
S. Das Expansion

*Monetary Policy can be “Restrictive” or “Expansion”

[0.5x8 =4] [CO2, Class 12]

Q. 6 B) Explain what is Autonomous Liquidity (AL) & Discretionary
Liquidity (DL). How is Net Liquidity Calculated from AL or DL or both?

[0.5x3 =1.5] [ CO 1, Class 9]

Page 11 of 12




Q. 6 €) Name X450, X & X-50. What is NDTI and which mstitutions

need to maintain 1t?

Current Liquidity Adjustment Facility in Indin

Rate o
interest
X+ 50 bps e
|This standing tacllity I8 avaliable up 1o 1 per cant ol banks' NDTL Name of Rate
against collateral ol government secuclllas (rom raquired SLA securilies
X+ 50
X ﬂ /\ /\ TN > ®
N’ \/ \/ N’ \/ 4\ 1S
\Llquidity against excess SLR secutitles and export creditrelinance
tacility tor banks and liquidity taciity lor PDs|
X-50 bps
|Liquidity absorplion by the Reserve Bank of India agalnst government X-50 18
securllles)
[0.5x3 =1.5] [ CO 2, Class 9]
Note :

o Make Assumptions where Necessary. Please state Assumptions clearly
o [M]: Marks allocated to the question.

e [CO #]: Course Outcome from 4 Coure Outcomes in Syllabus

e [, CL#] : Class number in which Syllabus was covered

Page 12 of 12
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ESCM-01 Total Quality Management

Duration: 3 Hours
Instructions:

2 Attempt any S questions.
b. All questions carry equal marks.
c. Assume missing data, if any.

1. (a) What is “quality”? How 1s it assured in product? Discuss the

ooooooooooo

Max Marks: 50

changes in quality system brought about by the changing
marketplace from a “sellers’ market to “buyers’ market”

[5] [CO1]
(b) Following cost data refers to quality audit of company XYX Ltd.
[ Cost Element Cost | Cost Element Cost (3)
Q
Inward Matl Insp 8000 | Maintenance of tools & gauges 10000
Scrap 30000 | Laboratory Testing 2000
' Quality Training 10000 | Rework/repait 50000
Process Insp 20000 | Quality improvements projects 20000
{ Product Testing 5000 | Test Equipment calibration 10000
Customer complaints 15000 | Equipment downtime 5000
Quality mudit 5000 | Product returns/ replacement 25000
L‘EE!!E‘E.E[QSEE‘_“LEL& instructions | 1000

(1) Segregate quality costs under various heads (viz prevention,
appraisal, internal faifure and external failure) and compute each cost

of quality as % of total of quality
(11)As a consultant analyse the data and prepare a corrective action

(5] [CO1]

2. (a) How can customers be classified according to complaints?
Ditcuss role of total quality management in improving customer

plan.

satisfaction

(b) Discuss in detail SERVQUEL model.

R

(5] [C02]
[511C02]

() “Juran’s inlogy exemplifies the essence of Quality.” Discuss
o b e i i ‘ [S][C03)
{(b) (a) The following information 13 available from the reec

. , widd of the
incoming matenial department of ARC Co. Lad.

797



Vendor | No of lots | No of [ Unit ] Fractior
submitted |lots price in | rif;?’;"f
— | rejected | 2 !H mumitme
A 15 43_ﬂ___*_’_"1?"i"‘lfl; ]
B 10 1 J19 o ;;,;:'_*':
C 1 Nil 21 lrjj[f_,___g
The factor weightage for quality, delivery and price are 40%, 35
and 25% respectively.

Develop a composite vendor rating plan based upon above data and
prepare feedback cum motivation note for management appraisal.
Highlight ~advantages and limitations ~of this approach.

4. (a) Discuss 1n detaﬂs "seven tool of quality management”.
| _ ; ‘ (811 [C04]
(b) 5 samples of a product X are taken One sample 1s taken every
hour of size 4 units of X. Mcasurement of each unit in each sample
is given below in the table Construct R and e B'xr chart. Comment
On process status and its contmuance Pl
‘For sample size'd, Az 0 73; D3 = 0 D4 =228

[Sample  [Xiio TR e [ Xa o o X ]
1 B3 0.6015'..‘“ 0.6023 ' [0.6010 - ]0.6028 |
2 0.6022 . {0,6042 0.6025  |0.6021
3 ~10.6019 0.6027"  ]0.6036 ~ '10.6024

4 . {0.6009 _ |0.6035 ' [0.6025 _ |0.6016 |
5 0.6042 0.6057 ' '0.6035 0.6048

S [S11C04)

~ 5.(a) Discuss the conccptof hcnclmmtkmg'? How it helps organization
to survive in turbulent busmcsq environment? List vanous steps
involved in benchmmlcmg ‘ [5][C0S]

(b) Write short notes on any one of the following:

(1) Quality Function Doployment (ll) Total Productive Maintenance
(iii) Failure Modes and Effect Annlyels [5] [C05]

(
6.(n) Dxplain Kano model and its contubution to build
competitiveness and cugtomor satisfaction. [5] [CO2]
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{ v
(1) What do you meat by quality feadet
by quahity leadership in bringing FOM cudture in i vl

7. Study the case and angwet the questions

Witz Carlton® was the Lt hotel company to win the v 1
Baldrige National Quality Award, The name alone evokes 1
of Tuxury and quality. Ritz treats quality noif it 1 the heartbeat ol thi
compuny. This means o daily conumitiment to meeting customel
expectations and making sure (hat cach hotel is free of any
deficiency.

In the hotel industry, guests buy an experience when they stay at the

hotel and not products, Henee, quality is difficult to quantify. Thus,

o Creating the right combination of the elements to make the

o~ experience stand out ig the challenge and goal of every employee,
[ from maintenance to management.,

Before applying for the Baldrige, Award, company management
undertook d tigorous self-examination of its operations in an atternpt
to measure and quantify quality. Nineteen processes are studied,
including room:service delivery, guest reservation and registration,
message delivery and .breakfast service. This period of study
included statistical measurement of process work flows and cycle
times for areas, ranging from room service delivery times and
reservations to valet. parking and housckeeping efficiency. The
results were used to develop performance benchmarks against which
future activity could be measured.

With specific, quantifiable targets in place, Ritz Carlton managers
and employees now focus on continuous improvement, The goal 15
100% customer satisfaction. If a guest's experience does not meet
expectations, the Ritz-Carlton risks losing that guest to competition,

One way the company has put more meaning behind its quality
efforts is to organise its employees into "self-directed" work teams.
Employee teams determine work scheduling, what work needs to be

(Iiic:]r:e] and what (o do about quality problems in their own areas.
o }11) ?)(lees are .also given the opportunity to take additional training
otel operations so that they can understand the relationship of



their specific area to the overall goals. Ritz-Carlton believe that a
more educated and informed employee is in a better position to male
decisions in the best interest of the organisation.

Questions:

(a)In what ways could the Ritz-Carlton monitor its success in
achieving quality? [5] [CO2]

(b) Why might it cost the Ritz-Carlton less to "do things right" the
first time? = okl [5] [CO1]

8. Write short note on any two of the followmg
(a) ISO 9000 i T L e M [S] [COS]

() Six Slgma R L LR [5] [CO4, CO2]
: ;  . (c) Employees mvolvement " 'f".;f' [5] [CO3].

(d) Role of semor management m‘TQM [5] [COI]
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LSCM-06 BUSINESS PROCESS REEMGINEERING

Time: 3.00 Hours Max.Marks: 50

Note: All questions carry equal marks

Attempt any five Questions

Q1. Explain the role of Information Technology in Business Process

Reengineering. 10

—_—

Q2. Why the company adopt Business Process Reengineering? What are
the benefits after the implementation of Business Process
Reengineering? 10

(3. What are the reasons for failure of Business Process Reenginéering'?
Explain with the help of example? 10

Q4. Explain change management with example. 10

Q5. Explain the need of Business Process Reengineering in an
Organisation? 10

Q6. Explain the involvement of top management for implementation of
effective Business Process Reengineering system? 10

Q7. Write a note on Business Process Reengineering implementation in
Indian Bank: Scenario and suggestions. 10
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I'nd-Hemesater Examination - | |
EIT-02 Business System Amalysis and Design

Time: 3 hry i

Note: Attempt any five questions.
Assume suitable missing data if any

Q.1 (a) What are the main diffsrercets beraes

Development Model and the RPagid Aprlicarcr Derelovrmmes e

Explain
(b) Draw Use Case Dizgram, Clzas Dizzram. Stame Chor Draoi—

1 i : af PRO TR @ JPRSEG S N . i
‘Covid Vaccine Slaot Booking Peservaria

Q.2 The CFO of Briddles Inc. is corsiderng 2 project. He wrs o demer—ie
whether the project should be execurad He decides thar e wnrl? e e

NPV model to determine whether the company shoeld be sy=murryer B
project.
The upfront cost of $1,00,000 would be incirr=d. I is t5e £~en S
relating to the benefits. Use the discounting rate of 6% to calorist= e NEV
of the project. Also, determine whether e B = vk

S e T

PR i L
“ -

| Year | Benafits |
1 | 50,000 ;
2 | 30,000 |
3 | 60,000

Q.3 (a) Explain the following architectures, glong with key advazrages ang
disadvantages: server-based, client-based. client-server, and clertserves
tier architectures.

(b) Joseph is an IT director at a large multinational, mulrsillion hollar-a

year corporation that is respousible for the distribution of Rezhly specialined

profile to dictate the performance requirsments of the compa=y’s mevs
mainframe system. Acting as a consultant to Joe, whar inds of
performance requirements are mportant  to develop an appropriase
hardware profile? What are the key issues for each of these Sqrements
that could be recommended to the corporatien’s CTO. QOO

LY,

and often times custom parts. He has been charged with creating 2 hardwre



Q.4 (a) The online prescription order system for United Pharmacy 1z
twenty different forms and screens. What might be the most mpo
design factor — and why" |

(b) The payroll adjustment system is only used by experi€l

s 2 . . >0 e g 1
clerks. In terms of the user interface design, what principles migh
(101 [CO4]

~
e

affected such a system? L 1Y) ']
Q.5 (a) Compare and contrast cohesion and coupling. | 6
(b) What is a ‘top-down approach’ and why is it important when designing
programs? [10] {Cosiﬁ

o .-/; & 3 v
10C0 Ay
| had

Q.6 (a) Identify three types of user documentation. Contrast when each form c
documentation should be used.
(b) What is the difference between usability testing and performance testinic

[10][CO4T"

Q.7 (a) There are three conversion locations — what are they and give so
advantages of each.

(b) What are the two ‘conversion style’ options for switching from the og

system to the new system — and what are the advanta i .
es an 1
to each? ges and disadvantag

=5
LS4

€S

[10][CO§
g

'
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EIT-10 EMERSING ISSUES IN ITM

Time: 3:00 Hours VMav. Marks: S0

Note:  Answer any FIVE questions ’
Assume suitable missing data, if any. |
CO# is course outcome(s) related to the question. |

Consider yourself as the newly appointed Chief Risk Officer at Cybertech

Innovations, a leading software development company. The company is

currently undergoing a major expansion in its operations, which involves
integrating various third-party services into its existing network. As part of
your role, you are tasked with assessing and managing the cybersecurity
risks associated with this expansion.

[a] Define the terms "risk" and "vulnerability” in the context of cybersecurity.
Explain how risk is related to vulnerabilities and assets in the scenario S
described. [S]1CO1}] <

[b] Given the integration of third-party services, outline potential N
cybersecurity threats that Cybertech Innovations might face. Explain how
these threats could exploit the vulnerabilities of the identified assets.

[5]1CO2)
2. Imagine you are a cybersecurity consultant for MedLink, a healthcare }i
provider that is implementing a new electronic health record (EHR) system.

g
As part of your role, you need to assess the cybersecurity threats that could A

impact the EHR system and evaluate their potential effects on MedLink's
operations.

[a] Describe the types of cybersecurity threats that could target the EHR
system at MedLink. Include at least one example of adversarial, accidental,
and environmental threats. For each type of threat listed, provide a
scenario in which these could realistically impact MedLink. [5) |CO3)

[b] Suggest appropriate strategies MedLink could employ to mitigate the
identified threats. Explain how these strategies could be eflectively
implemented in the healthcare context to ensure both security and

compliance. 5] {CO3)
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are part of the risk management team at Global Ban
reassessing its risk a

sector have prompted
o bett

J. Supposc you | | .
multinational banking institution that 1S .
methods. Recent cyber incidents in the financial
board to consider an overhaul of their risk asscssment processes
quantify potential financial impacts. o .

[a] Compare and contrast quantitative and gluulnnnvc risk ;‘xs:;cwnynt meth )
in the context of cybersecurity for Global Bank Corp. Highlight the

advantages and limitations of cach method specifically in lthl,cll(wfn(lil;lln;r

sector. .
[b] Assume Global Bank Corp experiences a cyber attack, which leads to a
data breach affecting 10,000 customer accounts. Statistical models suy‘gjcat
there is a 0.05 probability of such a breach occurring annually. If the
average financial loss per breached account is estimated at <1 1,000,
calculate the Annual Loss Expectancy (ALL) for this risk. Based on the

- ALE calculated, discuss how this figure can guide the bank’s decision on
investing in enhanced cybersecurity measures. Consider a proposed
cybersecurity upgrade that would cost 1.5 crore annually but reduce the

l probability of the breach to 0.01. [5] [CO3]
4.[a] Considering the rapid advancement in artificial intelligence (Al)
1 c{% applications, examine a leading technology firm that identifies as an Al
| “\& company. What key characteristics and strategic actions distinguish it as
such? [5] [CO2]

[b] Analyze the following business scenarios and determine whether data
analytics or artificial intelligence (AI) is more applicable in each case.
Justify your choice with reasons. [5] [CO2]

(i) A retail company wants to tailor its marketing campaigns to individual
customer preferences based on past purchase history and browsing
behavior.

(ii) A telecommunications company seeks to improve its customer service
by implementing a system that can handle common inquiries and
complaints autonomously.

(iii) A manufacturing firm aims to reduce costs and improve efficiency by
analyzing its supply chain to identify bottlenecks and predict future

_ disruptions.

(iv) A ﬁnf‘mcial institution needs a solution to detect unusual transactions in

real time to prevent potential fraud and financial losses.
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5.|a] What are key considerrations for sclecting a project as first step to
(ransform a (raditional company 10 Al company. Also discuss the
[5] |¢ 03]

importance of technical and business diligence.

[b] What are the major steps involved in transforming a traditional company
into an Al-driven organization? Provide a bricf discussion of each step,
highlighting their significance and potential challenges. [5] [CO3]

6.]a] Outline the life cycle of a Generative Al project. Also, explain the primary
applications of Large Language Models (LLMs) and discuss their inherent
limitations [5] [CO3]

[b] How is artificial intelligence reshaping the business landscape in terms of
job scenarios and ethical considerations? Please discuss the implications
of Al integration on employment patterns and the ethical challenges
businesses face as they adopt this technology. [5] [CO3]

---Best of Luck---
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Note: Attempt Any Five Questions. Iach Question carry 10 marks.
Suitable missing data, if any.

Use Case-A- Coca-Cola India

Beginning with Lemon-Dou, its worldwide alcoholic ready-to-drink beverzge,
which the corporation has begun to pilot test in Goa and certain regions of
Maharashtra. Coca-Cola India has made its first foray into the alcohol marks
The company is pilot testing Lemon-Dou, a product from its worldwide poric f”;,
in a few Indian states. Lemon-Dou is a concoction of lime and shochu, a disti [=C
liquor related to vodka and brandy. “We know exactly what kinds cof beveragzs
consumers like to drink. I refer to it as mental and physical nourishment,” s2iz
Manolo Arroyo, Global Marketing Chief, Coca-Cola. Coca-Colz znc
international spirits manufacturer Pernod Ricard announced in October that tzey
will be working together to provide Absolut vodka and Sprite as ready-tc-crink
pre-mixed cocktails globally in 2024, with the UK, Netherlands, Spain, =4
Germany leading the way. The new brand, Absolut & Sprite, will be created by
combining Coca-Cola's Sprite and Sprite Zero Sugar with Pemod's premium
vodka. “We want to create Coca-Cola’s ‘New Service Ecosystem’ of aicchclic
ready-to-drink beverage in India and Indian customers are aware about new
beverage services,” Manolo Arroyo, Global Marketing Chief, Coca-Cola.

0
(A

Based on assumed Use Case-A- Coca-Cola India. Answer following G-07, G-
02 and Q-03.

Q-01-Critically analyze and briefly discuss Coca-Cola’s foray into ‘New Servizcs
Ecosystem’ of alcoholic ready-to-drink beverage market in India, with the
support of suitable examples? (CC1,2)
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- : yuld
0-02- Briefly discuss how Coca-Cola shoul .
ol , sverage in India, W
vstem® of alcoholic ready-to-drink beverage in
» (Hlustrations?
o-drnk beverage
(.

"hat effect Coca-Cola's alcoholic ready-t

v 2
Ind carbonated soft drink competitors?

Use Case-B- Unified Payment Interface
ani

Mini

The Unified Fayment Interface (UPI) services are now available in 5n I
Msuritius, the Ministry of External Affairs announced today. Pnime
Narendrz Modi attended a virtual event marking the inauguration of I
Fayment Interface (UPI) and Rupay card services in Sri Lanka and Mauritiu
NFCT International Payments Limited (NIPL) and Lyra announced UPI adoption

i £rance, earlier this month. The Unified Payment Interface (UPI) services o
able in Bhutan, Oman, Mauritius, Abu Dhabi, Malaysia, Thailand

]

T
e

ietnam, Singapore, Cambodia, South Korea, Japan, Taiwan, mﬁ‘z

inoines, V

. . . )
Marketing of Services® in promoting
s 1n Sri Lanka and Mauritius, with (&

%--.ff- -:-.:ow ew age marketing tools wi]]
Div;ard a2 [
minied Payment Interface Services in the co
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Note: Attempt Any Five Questions. Fach Question carry 10 marlks, |
Suitable missing data, if any.

Use Case-A- Coca-Cola India

Beginning with Lemon-Dou, its worldwide alcoholic ready-to-drink

which the corporation has begun to pilot test in Goa and certain region: «
Maharashtra. Coca-Cola India has made its first foray into the alcohol mz-ket.
The company is pilot testing Lemon-Dou, a product from its worldwide portifolic,
in a few Indian states. Lemon-Dou is a concoction of lime and shochu, a distilled
liquor related to vodka and brandy. “We know exactly what kinds of beveragzs
consumers like to drink. I refer to it as mental and physical nourishment,” sai~
Manolo Arroyo, Global Marketing Chief, Coca-Cola. Coca-Colz =74
international spirits manufacturer Pernod Ricard announced in October tha: ‘e
will be working together to provide Absolut vodka and Sprite as ready-to-crink
pre-mixed cocktails globally in 2024, with the UK, Netherlands, Spain, z-
Germany leading the way. The new brand, Absolut & Sprite, will be created by
combining Coca-Cola's Sprite and Sprite Zero Sugar with Pernod's premium
vodka. “We want to create Coca-Cola’s ‘New Service Ecosystem’ of alcohclic
ready-to-drink beverage in India and Indian customers are aware abou: e«

beverage services,” Manolo Arroyo, Global Marketing Chief, Coca-Cola.

Based on assumed Use Case-A- Coca-Cola India. Answer followins g Q-07, &

Q-01-Critically analyze and briefly discuss Coca-Cola’s foray into ‘New Servica
Ecosystem’ of alcoholic ready-to-drink beverage market in India, with the
support of suitable examples? (CO1,2)
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P
o should promote is e
0-07- Briefly discuss how Coca-Cola should | b o
4 - . N L T e 2 8 ¢ I‘r"" ” N L {] ‘
Geosvstem® of alcoholic ready-to-drink beverage In India, ' 0
suitable illustrations?
: A 1 ¢ wernpgc .‘/l“ ‘ 1 _; .
G-03- What effect Coca-Cola’s alcoholic ready-to-drink beverags - i
e (CO1.2.3)
Indian carbonated soft drink competitors? .
w! L
’ ified P 'nt Interface _.
Use Case-B- Unified Payme ] Al

he Unified Payment Interface (UPI) services are now available in Sri Lanka n,n:j\
“Mauritius, the Ministry of External Affairs announced today. Prime Minist& g
Narendra Modi attended a virtual event marking the inauguration of Umhcl
Paywment Interface (UPI) and Rupay card services in Sri Lanka and Mauriti APV

'PCI Iniernational Payments Limited (NIPL) and Lyra announced UPI adoption_
in. France, earlier this month. The Unified Payment Interface (UPI) services a
:.’ss aveilable in Bhutan, Oman, Mauritius, Abu Dhabi, Malaysia, Thailand,

1—?? nes, Vietnam, Singapore, Cambodia, South Korea, Japan, Taiwan, ai
ong Kong.

’T‘ ’tl

oD

Szsed on assumed Use Case-B- Unified Payment Interface. Answer Q-04, Q-
05 end (3-89 m\ ,

® ‘-04- Briefly discuss the importance of ‘Marketing of Services’ in promoti 'g
india’s Unified Payment Interface services in Sri Lanka and Mauritius, with tl! ﬂ‘l
support of suitable examples? (C01,2)

Q-05- Design a ‘Marketing Plan’ as how India should promote its Unifictra

rzyment Interface services in the countries of African Continent, with thm)y
support of suitable illustrations? (CO2,3 )

Q-05- How new age marketing tools will be beneficial for promoting Indiaw 4?*»\
Unified Paym\,nt Interface services in the countries of African Continent? 1
-

(co12, 8.
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COURSE CODE - EMK-09 COURSE TITLE - Digital Marketing

Time: 03:00 Hours

Max. Marks: 50

Fote : All questions carry equal marks. Choose any 5 Questions

Assume suitable missing data, if any.

Q.1

Q.2

Q.3

Q.4

Discuss the importance of integrating various digital marketing
channels in a comprehensive marketing strategy. Describe how the

integration of SEO, PPC, and Social Media can enhance overall
marketing efforts. [10][CO#]

Explain the role of content marketing in building brand awareness
and generating leads. Provide examples of how different types of
content (such as blogs, videos, and infographics) can be tailored to
different stages of the buyer’s journey. [10][CO#]

Imagine a situation where your company’s product launch has
received negative feedback on social media, escalating into a
potential PR crisis. As the digital marketing manager, draft a
response plan that includes how to manage social media interactions,

mitigate the damage, and recover the company's brand image.
[10][CO#]

Design a digital marketing campaign focused on lead generation for
a B2B service provider. Detail the choice of digital marketing
channels (such as LinkedIn, email marketing, or webinars), the type

of content you would use, and the lead nurturing process you plan to
implement. [10][CO#]



2497 2.

Q.5 You are the digital marketing manager for an e-commerce Company
specializing in natural health supplements. The company's website
has been active for three years but has struggled to rank well in search
engine results. Your task is to develop a comprehensive SEO strategy
that will improve the website's visibility and search engine ranking.

[10][CO#]

Q6. Take example of any product and services while designing & develop

a Digital Marketing Funnel. [10J[CO#]
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COURSE CODE EMBA 201

COURSE TITLE HUMAN RESOURCE MANAGEMENT

Time: 03:00 Hours Max. Marks: 50

|

i
|

| Note : ATTEMPT ANY FIVE QUESTIONS

All questions carry equal marks.
Assume suitable missing data, if any.

Q.1

O
(.

Q.3

Q.4

Q.5

0.6

Give four examples of when you would suggest using team or
Group incentive programs rather than individual incentive
programs. [10 MARKS] [COI]

What techniques would you use as alternatives to traditional
discipline? What do such alternatives have to do with organizational
justice? Why do you think alternatives like the Hot stove rule are
important? [10 MARKS] [CO3]

As an HR manager, what program would you establish to reduce
repatriation problems of returning expatriates and their families?

[10 MARKS] [CO4]

Explain the problems to be avoided in appraising performance.
[10 MARKS] [CO1]

What are the five main things you would do to recruit and retain a
more diverse workforce? [10 MARKS] [CO 2]

What should employers keep in mind when using Internet sites to
find job candidates? [10 MARKS][CO 5]




I Semester IEMBA (DSM)
Ind Term Examination May-2024
Course Code - EMBA-202 Financial Management

Time: 03:00 Hours Max. Marks: 50

Instructions: Attempt Any five questions. All questions carry equal marks,

Assume suitable missing data, if any. Use of Non Programmable calculator
and PY/EV tables are allowed.

Q1. (a). Sarah has just received a $10,000 inheritance from her grandparents. She
plans to invest this moncey to help fund her retirement, which is 30 years away. She
has found an investment opportunity that offers an annual interest rate of 8%.
Assuming she reinvests all interest earned annually and compounds her returns
annually, how much will Sarah have accumulated by the time she retires?

(b). What is Financial risk? How does it arise? %
[SM*2 =10M] [CO1,CO2]

Q2. ‘Every Manager has to take three major decisions while performing the
finance function® briefly explain them.
e | [10M] [CO1]
Q3. (n). Are the share holders of a company likely to gain with a debt component
in the capital employed ? Explain with the help of an example?

(b). Why Capital budgeting decisions are more important?
[SM*2=10M] [CO2, CO3]

10f3
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Q4. ITC Ltd. 1s considering a new project that requires an investment of $800,000.
The project 1s expected to generate annual cash flows of $250,000 for the next 6
years. ITC’s capital structure consists of 40% debt, 40% equity, and 20%
preference shares. The cost of debt is 5% per annum, the cost of equity is 12% per
annum, and the cost of preference shares is 8% per annum. Calculate the Weighted
Average Cost of Capital (WACC) for ITC Ltd.

[10M] [CO2]

Q5. The capital structure of the Progressive Corporation Ltd consists of an
ordinary share capital of Rs 10,00,000 (shares of Rs 100 par value) and Rs
10,00,000 of 10% debentures. The unit sales increased by 20 percent from
1,00,000 units to 1,20,000 units, the selling price is Rs 10 per unit, variable costs
amount to Rs 6 per unit and fixed expenses amount to Rs 2,00,000. The income tax
rate 1s assumed to be 35 per cent. 7

(2) You are required to calculate the following:

(1) The percentage increase in earnings per share.

(11) The degree of financial leverage at 1,00,000 units and 1,20,000 units.
(111) The degree of operating leverage at 1,00,000 units and 1,20,000 units.

(b) Comment on the behaviour of operating and financial leverage in relation to
increase of production from 1,00,000 to 1,20,000 units.

[10M] [CO2)

Q6. Sigma Corporation is considering investing in a new project that requires an
mitial investment of $200,000. The project is expected to generate cash flows of
$50,000 at the end of each year for the next 5 years. The company's cost of capital
15 10%. Calculate the Net Present Value (NPV) and Internal Rate of Return (IRR)

of the project and advise the company whether to undertake the investment.
[10M] [CO3]

2ol3
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[l SEMESTER

EMBA
END TERM EXAMINATION May-2024
TITLE Marketing Research

COURSE CODE: EMBA-203
Max. Marks: 50

Time: 03:00 Hours
Note: Attcmpt any Five Questions.
All questions carry equal marks
~ Assume suitable missing data, if any.
of a series of sequential,

“The marketing research process consist
study need to

Q.1

interrelated and intricate steps”. Does every research
satisfy all such steps? Justify by giving suitable examples
[10] [CO#I]

Q.2 Faced with growing absentecism and low productivity, the HR
manager of a leading Public Sector Enterprise with more than 75,000
employees across India, proposes that a comprehensive study is
required to be conducted to understand the reasons of absenteeism
and low productivity across the hierarchical levels, age, gender,
educational qualifications and other important demographic and

socio-cultural characteristics of the employees.

A. Identify suitable independent, dependent and moderating variables
[S][CO#], IT]

of the study.
State 4-5 suitable hypotheses of the study. (5)CO#II, T11]

0.3 A global NGO supported by leading sofiware tycoon intends to

understand the young student’s perception about healthy lifestyle.
The NGO administers a questionnaire and captures the student’s
initial perception and understanding about the healthy life style. The
NGO then shows various video contents and runs workshops on
healthy life style. After delivering such interventions to the students,

the NGO again administers the same questionnaire.
A.  Design the experiment. [5] [COHII, L)
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Q.5
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font’ variable, extraneous varabies,

v
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denufy the depe
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why the young students from

The Indian Army wants to understand
er defence forces as a career

major Indian cities are not excited to prefs
option.
Explain your data collection plan.

Design a suitable questionnaire to capture the

[5] [COH#IIT]
data from the

respondents. [5] [CO#II, 1]

Indicate the type of measurement scale you would use for each of the
following: colour of mobile phone, size of TV, purchase intention,

intention to download mobile application of the brand, rate of
inflation, age of the customer, educational qualification of the

customer and loyalty towards a brand. Develop a suitable question

for each of the chara tenstlc and justify your answer.
e ‘ [10] [CO#L, 11, I11]

Write short note on any two of the following:
(5] [CO#11I]

Snowball sampling.
Fundamental vs applied research [5] [COHI]
Focus group technique [5] [CO#1I, ]

.
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N.1 Read the case below and answ
nomic meltdown. Since 2014, s

/o

In early 2021, Venezuela experienced a severe &0

GDP had dropped by 69.4%. Hypennflation began in late 2017, predicted to reach

2.060% by 2020. Thus crisis triggered one of the largest migratory exoduses in

history, with about 3.4 million people, nearly one-sixth of the population, leaving the
2020. © out of 10 of Venezuclans lived in poverty, and infant mortality

(o)
(]
3
H
s
o

%% since 2008, with a third of the population
1 over 75% had lost weight owing to foed scarcity.
President Nicolds Maduro's past policy efforts did not offectively address
hyperinflation and economic collapse. The issue stemmed from a government facing
declining income and a significant budget oficit. which was funded through money

eation. Venezuela faced constramts such as US sanctions, political disputes with

o .
the opposition party, and low oil prices, leaving it with few options.

The Bolivarian Republic of _\'enezueln

Venezuela, once a Spanish colony, gair
Bolivar's leadership after as
significant oil reserves early in't
a major global il producer, with a pr
The naticn is a founding member of OPEC. By 2012, oil constituted 96% of
Venerzuela's exports, but the economy later faced severe challenges. The transition to
democracy occurred in 1938 after 2 civilian-military revolution custed right-wing
military leader Marcos Perez Jiménez. ending a peried of military dictatorships. The
late 20th century saw Venezuela grappling with social and political upheaval,
economic stagnation. and escalating inequality. Hugo Chévez, who had led an

llh;’{\;l;CCcssfu[ coup in 1992, capitalized on these conditions to win the presidency in
s 20,

~0

{ %;_erg)dcncc in 1821 under Simdn
utionary struggle. The discovery of i

propelled Venezuela nto becoming

The Chéavez Legacy

g:d;’ H‘;ﬁ“ Chivez, Venezuela adopted its 26th constitution in 1999, establishing

n: ltm = of goveITiment end a six-year presidential term, along with the right to
olt against undemocratic regimes. Chavez implemented populist measures like
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and nationalized key industries including oil and telecoiﬁmuniéalt/ions. f{(c also - ’!.
introduced foreign exchange controls in 2003 to combat capital flight during an oil

strike. Price caps were set on essential goods to fight inflation, and production quotas

were enforced in 2009 for staple items. During Chévez's 14-year tenure, Venezuela's

economy grew by an average of 3.0% annually, driven by a surge in oil prices, though ’ ’

masked by a decline in productivity. Venezuela lost market share to more productive

oil nations despite having the world's largest oil reserves. Chévez was reelected in

December 2012, but by January 2013, he was too ill to serve, leading to Vice

President Nicolas Maduro taking over. After Chavez's death in March 2013, a new

election was held the following month.

Maduro Takes Control

After Hugo Chévez's final surgery in Cuba, Vice President Nicolds Maduro assumed
power in December 2012. He narrowly won the presidential election in April 2013,
beating Henrique Capriles by just 1.2 percentage points. Rejecting IMF support due
to an established anti-IMF stance, Venezuela had not engaged with the IMF since
2004. In February 2013, the government devalued the official exchange rate from
430 to 6.30 VEF/USD ("strong" bolivars, or Bolivar Fuerte, the value of the
Venezuelan currency at the time), despite the black market rate being around 27
VEF/USD. Additionally, the government shut down the SITME (Sistema de
Transacciones con Titulos en Moneda Extranjera (Foreign Currency Securities

Transaction System) secondary bond market, a decision that would later prove
problematic.

A8

Price Controls, Distortions, and Scarcity

Following the closure of the SITME system, which was perceived as a corruption
hub, Venezuela's retail sector faced turmoil. Importers of non-essential goods,
previously reliant on SITME for foreign exchange, were forced to halt operations or
turn to the black market. This led to increased inflation and widespread shortages of
both essential and non-essential items. From 2012 to 2014, imports fell by 24.8%,
while annual inflation spiked from 20% to 56%. The central bank's scarcity index

rose from 14.2% to 20.8%, leading to frequent shortages of food and necessities like
toilet paper and sugar.

Price-controlled products suffered the most, exacerbating shortages as sellers couldn't
raise prices to match reduced supply. These economic challenges almost cost Maduro
his presidency. The government avoided further devaluation of the currency until
January 2016. During this period, the nominal exchange rate declined by only 10%
annually, while prices soared by 242% per year. In November 2013, Maduro accused
Daka, a major electronics retailer, of price gouging. This led to government-mandated
price reductions and mass looting, culminating in the military takeover of major

electronics stores. This action, known as the Dakazo, temporarily boosted Maduro's

approval ratings and helped his party secure a municipal election victory.

Oil Prices Head South
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feared repercussions, leading to declining govcn‘lmcnt support aml(l nsmg.m ﬂ;m
and scarcity. By August 2014, Maduro's popularity h;ld fallen to 30%. /\drim.rmn.(lv{.
global oil prices dropped, with Venezuelan oil plunging frqm $100 to 571 per lzanfl
from June to November 2014 due to increased U.S. shale oil proc?uctl‘on and. (JI.E(., S
decision not to cut output. This initiated a price war and led to a historic decline in oil
prices, with Venezuelan oil hitting below $24 per barrel py Fcbru?\ry'2016 a 76%
drop from 2014. Consequently, the government slashed imports glgnlﬁcantly, from
$66.0 billion in 2012 to $16.4 billion in 2016, and the budget deficit surged to 23.7"/0
of GDP. Amid these challenges, the government maintained the high official

exchange rate and implemented stricter rationing to curb further inflation.

Elections and Political Crisis

In December 2015, Venezuela's opposition achieved a significant victory, securing
112 out of 167 seats in the National Assembly, overturning fifteen years of pro-
government majority. This supermajority enabled them to enact major political
reforms, including the appointment of new electoral authorities and proposals for a
National Constitutional Convention that could dissolve existing government
branches.

The results were initially unchallenged by Maduro's party, but they later contested
the election results, alleging vote-buying. The Supreme Court then suspended the
election results from Amazonas, preventing the opposition from achieving a complete
legislative majority. In response, the outgoing Socialist party-controlled Assembly
hastily filled 13 Supreme Court seats to retain influence.

The opposition attempted to initiate a recall referendum against Maduro, a move S\D
hindered by bureaucratic obstacles that ultimately cu!minated in the dismissal of the '
referendum efforts in October 2016. F rustrated, the opposition escalated their tactics,
leading to widespread protests. Amidst the political strife, the opposition sought to
block government efforts to secure funding. In early 2017, they intervened in a
r!eg(?tiation between the Central Bank of Venezuela and Deutsche Bank intended to
liquidate Venezuelan gold reserves. Additionally, a controversial dea] in 2018 saw

Economic Sanctions
The opposition sought international Support, and President D
admir.ﬁstration was responsive. Under Trump, the U.S.
sanctions against Venezuela, starting with an exec
panned Americans from trading new debt issued b

onald Trump's
intensified economic
utive order in August 2017 that
Yy the Venezuelan government or

Constitutiona] Co i ’ move to establish a National
» Intended to strip the opposition-




Rdo

‘-' v L
jinaly iy

'* [ 1 i ¥
so1d {36 UL | rece fdzeag § W LZ a0, g
= - t

: l' A is v N/ fi 'i:h;’v
a's ncting president alid soon added T3> PDVSA to

Y

Assembly, as Venezue ‘ e
< .. 3 ~ & ) "")‘ a eX rt
sanctioned entities. This action anticipated a loss of $11 billion in PDVSA'S €X} |
A 13 ’ N ' 2 l‘_.‘,_;‘ ard
camings. The U.S. also pressured PDVSA's clients to cut oil purchase T
i i ' includi ' can firms an
sanctioned entities dealing with Venezuela, including two Mexican Hirms &

. T Y jons ¢ od as Maduro
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of its refineries.

Hyperinflation Arrives . “ S
By the end of 2017, Venezuela was in the grips of h'ypcrmﬂutmn,-.n severe EEOH. m.!
condition defined by monthly inflation rates cxccu!mg 50%, trzmslatmg to tm an{n al
rate of over 12,875%. This marked a drastic shift from carlier dccudcsﬂ, d'cpn‘c
Venezuela experiencing high inflation rates durir}g the 1'98()5. Notable Jg;rxuj f,‘l
inflation had previously only occurred in brief periods during 1289 and 19,' A ca,
linked to significant changes in the country's exchange rate policies. The snuanurj
escalated in July 2015 when inflation hit triple digits, and by yez_n’s end, it surgcd 1o
181%. In the subsequent years, monthly inflation averaged 4.1% in 2013-14, climbed
10 9.0% in 2015, and reached 11.7% in 2016.

Venezuela's inflation was monitored by two main entities: the National Assembl‘,:
(AN), controlled by the opposition elected in 2015, and the Central Bank of
Venezuela (BCV), appointed by Maduro's government. According to the BCV,
hyperinflation commenced in December 2017 and continued until December 2020.
The AN, however, reported that hyperinflation began in November 2017 and
concluded in January 2021, with monthly rates consistently above 50%. The inflation
data discrepancies between the AN and the BCV were significant, with the AN
reporting an average monthly inflation rate of 56.2% compared to the BCV's 43.5%.
Nonetheless, the BCV reported higher inflation rates than the AN in approximately
25% of the months.

A common precursor to hyperinflation is a substantial increase in the money supply,
typically used to finance government deficits. Venezuela's consolidated public sector
deficit was significant, never dipping below 9.0% of GDP annually from 2012 to
2018, with an average deficit of 16.6% of GDP. Initially, the Venezuelan government
managed to offset the inflationary impact of its deficits by reducing its foreign asset
boldmgsf—a process known as sterilization. Sterilization involves the central bank's
Intervention in currency markets to neutralize the monetary impact of its forei

exchange operations. However, by the end of 2015, these assets were laraegll;

depleted making it impossible to shield the e i i
> CO 7 F
L nomy from the inflationary effects of

The situation worsened
frgezmg of Venezuelan foreign assets
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its indirectly.
o workaround to finance deficits 1n
BeY I et Constitution, prohibits the BCV from

mment bonds. However, the cent.ral
companies like

' estricti he
ite legal restrictions, t .
BZi%zuelan law, speciﬁcally .Artlcle 32Q of tht; 5

onetizing the deficit, i.e.; directly buying god e bonds, e
ll?ank circumvented this by purchasing bonds 1ro
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ravaged Venezuela's economy.

t of the mechanics of hyperinflation involves a gradual deterioration

i i i ere finall
f{le gol\)/ernment's ability to finance its expenditures. When taxes W y

igni i ates of
collected their nominal value had 51gmﬁcant1y decr.eased de ttcgdhgghthgs.
inﬂation.’One of the limitations of inflationary finance 13 demonstra y this:

ou print after you cross a particular barrier, the less yodu cc}zln aj;fg;i
This is due to the fact that creating money Is akin to taxing pe.ople, an rv;;e;n o
are excessive, individuals will take any action necessary ;10 la;olxd paymgey a.nd o
i jon 1 4 ’ ill attempt to hola less money,

inflation is exlr emely high, people wil .

government's ability to fund itself will be hampered by the drop in real money

holdings.

The more moneyy

The total seignorage decreased at the end of 2018 from 11.4% of GDP in 2017 to
1.9% in 2019 and 0.1% in 2020. People were literally attempting to spend thf: money
more quickly than the government could generate it, wlngh is why hyper.mﬂatlon
persisted even though the government was receiving very little actual funding from

money printing.

Stabilization Attempts

Three approaches are frequently used as hyperinflation management strategies.
Occasionally, nations will launch a new currency and set its value against a stable
one, like the US dollar. This applied to Argentina's Convertibility Plan of 1991 and
Brazil's Real Plan of 1993. In other instances, like Bolivia in 1985, governments allow
the new currency to float while realigning expectations towards price stability through
a credible budgetary adjustment and a restrictive monetary policy. Occasionally, as
happened in Zimbabwe in 2008, the entire value of the native currency is replaced
with the currency of another nation, such as the US dollar. Strong commitments to

lowering the budget deficit and putting an end to money printing were components
of the policies in each of these situations.

Under his leadership, Maduro had declared numerous initiatives to keep the currency
stable, such as several changes to price control legislation, 21 and at least 34 hikes in
l‘l}(: minimum wage between "Protect our beloved working class's... salaries from
:/dg]l::dzl:xill:'l:l::t:' was thc} stated goal in 2014 and 2020. Despi't.é these raises
€ nimum mo income of i ioni i

that of its neighbour Colorr];;)]i)zl\ ”::l(l)ilcl:]lb 9[ SSS b 33’ SR M

, 11s USD 386, due to the cumulative effect of
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that it will introduce the petro, a new cryptocurrency. The nation's mineral and oil
reserves will support the currency, the authoritics declared. The grr;fjmrt;‘,‘f‘,‘
published a white paper in which it stated that because the currency was "backed by,

a basket of Venezuelan commodities," its value would "tend to behave in a stable

way." There was no mention of how holders might confirm that backing in 'hc

description. Additionally, it was thought that the currency would enable the

government to get beyond US sanctions.

A local pollster, Datanalisis, conducted a poll in February 2018 and found that 45.8%
of res_pondents thought the petro would not "help with their current economic
situation," 36.8% were unsure of the potential consequences, and only 16.6% thought

it would. All hopes that the petro or any other cryptocurrency endorsed by the
Venezuelan government could be used to get over sanctions were dashed in March
2018 when the Trump administration issued an executive order prohibiting
transactions with them. As a result of tax benefits related to their use, some businesses

solely used the petro to pay taxes by the end of 2020, in addition to some public
administration tolls and levies.

Maduro unveiled his "Economic Recovery Programme" in August 2018 with the goal
of putting a stop to the hyperinflation. The plan included a "monetary reconversion”
wherein the currency was denominated bolivar soberano (or "sovereign bolivar”)
instead of bolivar fuerte ("strong bolivar"), and five zeros were removed. The bolivar
sovereign would be linked to the Petro. The proposal called fora full implementation
of currency convertibleibility (i.e., lifting of exchange controls), a zero budget deficit,

an end to deficit monetization, and a sixty-fold rise in the minimum wage, which
would now also be indexed to the peso.

The Maduro administration committed to budgetary restraint and acknowledged for
the first time the connection between the budget deficit and inflation. Another
noteworthy component was the intricate plan to tie the new currency to the petroleum,
which meant a 60 sovereign bolivar to dollar conversion rate. The exchange rate
between the dollar and sovereign bolivars was 59 on the day of the announcement.
To put it another way, the government had given up on trying to impose an artificially
high exchange rate for the first time in more than 15 years. The black market
premium, which in the past had averaged an absurd 350,000% 12 months prior to the
reforms, was only 9% on average in 2020, and occasionally even went negative. The
central bank adopted a far more contractionary monetary policy in August 2018 and
increased reserve requirements significantly in order to carry out the strategy. It was,
however, extremely impossible to determine whether or not the government
attempted to fulfil its fiscal commitments. As of January 2021, Venezuela had not
released comprehensive fiscal statistics since 2013 and no official data was available
to confirm whether the deficit increased or decreased after 2018. Following March,
the US dollar's usage increased. 2019 saw a number of countrywide blackouts that
reduced the dependability of electronic transactions in bolivars given the absence of
a reliable source of electricity. By February 2020, According to estimates from the
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Remarkably, the Maduro govemment accepted de facto dollarization as a good
development, reversing its earlier positions. Henri Falcn, Maduro's opponent in the

2018 election, suggested fully dollarizing the economy. In response, Maduro claimed

Faleon was looking to "sell Venezuela out to imperialism." However, by November

2019, Maduro declared that he saw "nothing wrong with it and referred to
dollarization as n "escape valve" that would help the nation's economy recover. But

instead of going with formal dollarization, the Maduro administration insisted on

keeping the dual-currency arrangement in place. The government expanded the

breadth of transactions using local USD-denominated accounts in January 2021, these

accounts were lawful but were not widely utilised in the economy.

114,000 COVID-19 cases and 1,028 fatalities had been confirmed in Venezuela by
the end of 2020. According to independent reports, these figures might be
underestimates because there were insufficient tests conducted. Venezuela's inflation
rates decreased from 131,000% in 2018 to 2,960% in 2020, even with the significant
hit to government coffers from oil sanctions and the COVID-19 pandemic in 2019
and 2020. However, the nation's economy suffered greatly as a result of the slowdown
in global energy consumption. The IMF claims that Venezuela's economy contracted
by 30% in 2020, which was by far the biggest GDP decrease in the area.

Had the underlying reasons for the hyperinflation in Venezuela been addressed by
Maduro’s plan? Was the nation destined to perpetuate the cycle of escalating levels
of human suffering, declining output, and excessive inflation, or was the economy
headed toward stability?

POSERS:

Q.1 Who is to blame for hyperinflation in Venezuela? [MM. 10] [CO#1]

Q.2 Why exactly is high inflation a problem? How does an economy contract?
[MM. 10] [CO#2]

Q.3 What advice would you offer the Venezuelan government about how to
reduce the country’s inflation? [MIM.10] [CO#3]

Q.4  How does an LM curve shift with the changes in money demand, money

supply, and price levels? Discuss the impact of government spending and
the taxes on IS curve. [10] [CO#4]

Q.5  What tools does a central bank use to regulate the money supply?
Discuss. Outline the limitations of the monetary policy. [10] [CO#2]
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Q.1 Explain need for knowledge management in a Business organization.
Explain technical and non- technical issues faced in implementation
of knowledge management in such organization [10] [CO1]

Q.2 A Indian Business organization is facing stiff competition from a
new MNC. Explain how knowledge management tools can help this
organization overcome this challenge and how it can prepare for
future to face similar threats? [10] [CO1,2]

Q.3 What are barriers to knowledge sharing system and how to overcome
these challenges in a business organization? [10] [CO4]

Q.4 What are various models of innovation? Explain characteristics that.
influence innovation in a organization - [10] [CO1,4]

Q.5 Explain how historical progress of Te

' - chnology has Impacted various
Social, Economic, Political & cultur

: al factors in business? How next
wave of technology wil| change some of them? [10] [CO3 4]

Q.6 Explain various challenges faced by business in Technology Life

€ can be managed for business benefits with help
[10] [CO2,4]

of example?
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Note : Answer any five questions.
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Q.1 What do you understand by Fourth-Party Logistics (4PL) Semce
Provider? Discuss the need of 4PL for the FMCG and Pharmaceutical

company. How it differs from 3PL? [COI,2,3,4] [10]

Q2. Consider the supply chain involved when a customert purchases a book

at a bookstore. Identify the cycles in this supply chain and the location of
the push/pull boundary. Justify your answer. [C02.3,4] [10]

ain practices from the “ZARA
How it deals with demand
[CO2,3,4,5] [10]

Q3. Discuss the various ZARA supply ch
Global Supply Chain Keeping” case.
uncertainty? Explain.

Q4. Explain the step-by-step approach of supplier valuation and selection

process for supplying essential commodities during crisis. [C0O2,3,5] [10]

Q5. Rise and fall of Subhiksha is a case study of mis-match between the
competitive strategies and supply chain strategies, Justify. Why this

company was failed while retail sector was growing fast? Explain.
- [C02,3,5] [10]

Q6. Consider the case study, Daikin Industries, Ltd.. Justify that Daikin

supply chain is a supply chain more focussed on customer responsiveness.
[CO4, 5] [10]

Q7. Write the short notes on any (wo of the following.
(a) Postponement Strategy
(b) Visibility-Velocity-Variability - for a  consumer electronics
company
(c) RoleoflTina e-retail company like Amazon

. [CO1,2] [10]
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Q.1 Explaining the relationship between Memorandum of Association and

Q.6

Q.7

a. A promise to sell his scooter to B for

Articles of Association highlighting the significance of the
documents. Discuss the contents of both the documents.
10 Marks [CO1, 2]

Briefly explain the meaning of 'Consumer” with reference to
consumer protection act, 1986. Discuss the redressal Machinery
under the Act. 10 Marks [CO1, 4]
Discuss how the companies can be classified under Companies Act.
10 Marks [CO1, 3]
All contracts are agreements, but not all agreements are contracts.
How far do you agree with the statemnent. Justify using suitable
examples. 10 Marks [CO2, 3]
Discx%ss how a promissory note different from a bill of exchange.
Identify the differences using suitable examples to explain and

differentiate both the types of documents. 10 Marks [CO3,4]
State the exceptions to the ru ’

(49 .
e le “An agreement without consideration
id.

10 Marks [CO1,4]

Explain the type of contracts ip the following agreements under the

Indian Contract Indian Contract Act, 1872

350,000. However, the consent of

A has been procured by B at gunpoint.

5*2=10 Marks [COl, 2, 4]
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Note: Attempt any 5 Questions. |
All Questions carry equal marks (10 marks cach).

Assume suitable missing data, if any. Write your answer

precisely.

Q 1. InaCost Plus Incentive Fee (CPIF) contract, the costis estimated [CO#5]
at Rs. 21,00,000 and the fee at Rs. 2,50,000. The project is
completed, and the buyer has agreed that the costs were, in fact,

Rs. 20,00,000. The shares in the savings are 80% to the buyer and
20% to the seller. Calculate the Final Fee and the Final Price.

Q 2. Briefly describe the role of Artificial Intelligence and Machine [CO#3]
Learning in the Project Management with one examnple in each
of the process groups. S

AD
Q 3. Discuss risk response strategies with an example each of the C
) [CO#1] =

strategy.

Q 4. Briefly describe:

a. Processes of Contract Closure and Administrative Closur [£0#2)
b. RACI Matrix with an example o
Q 5. Discuss any 5 situati j
ations of project i '
e project end with suitable examples of [CO
CO#3]
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Q 6. You have a project to build a boundary wall of a square park.

Each side of the boundary wall is to take one day to build, and
Rs. 10,000 has been budgeted per side. The works on sides are
planned to be completed one after the other. Today is the end of
Day-3. Using the following project status table, calculate the
following, and interpret each answer: (i) Planned Value, (ii)
Earned Value, (iii) Actual Cost, (iv) Budget At Completion, (v)
Cost Variance, (vi) Cost Performance Index, (vii) Schedule
Variance, (viii) Schedule Performance Index, (ix) Estimate To
Complete, (x) Estimate At Completion

In following Table: S- Actual Start, F-Actual Finish, PS-Planned
Start, PF-Planned Finish

Activity | Day-1 Day-2 Day-3 Ll Day-4 Status atj
end of
Day-3
Side-1 | S-----
e S-----F Complete.T
Spent Rs.
| 10,000
Side-2 S-—-PF| ——F Complete, |
Spent Rs.
- 12,000
ide-3 PS—-S-PF | 50%
Complete.
Spent Rs.
Side-4 [ [ -
e_ \
PS---PF Not yet
“\J\gg& started

Page 2 of 3
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), find the [CO#4]

e following network diagram (time in days
0 days

Q7. Given th
lowest cost to complete the project in 1

Activity Normal Time, Crash Time, Partial
Cost (in ‘000 INR) | Cost (in ‘000 INR) Crashing?
a 3,60 3, 60 No
b 7,30 6, 80 Yes
E 3y 50 2,90 No
d 6,30 950 No
e 4, 40 2,100 Yes
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Note: There is a total of seven questions. Read all questions carefully.

Section A is compulsory. Attempt any 4 questions from Section B
Assume suitable data, if any.

SECTION A

Q.1. Select correct option in parts i to viii which carry 1 Mark each. Part ix is of
2 Marks. Write option code as answer. Do not re-write, [M-10][CO-1,2,3,4]

1. Which of the following is generally 707 one of ihe

responsibilities of a board of
directors? -
A) effective board leadership including the processes, makeup and output of the
board

B) strategy of the organization

C) risk vs. initiative and the overall risk profile of the organization
D) becoming directly involved in managerial decisions

ii. Catalyst-level boards of directors typically

A) are less involved than active participation boards.
B) take leading roles in establishing and modifying the company mission.
objectives, and strategy.

C) are involved in a limited degree of key decision-

9¢E

making.
D) are held to a greater degree of legal responsibility.
iil. The boards typically never initiate or determine strategy unless a
crisis occurs.

A)rubber stamp (B) active participation (C) catalyst (D) nominal participation

Iv. According to the text, most publicly owned large corporations today tend to
have boards with what degree of involvement in the strategic management
process?
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A) passive to minimal (B) minimal to nominal (C) rubber stamp type (D)
nominal to active

v. Which country pioneered the use of worker participation on corporate boards?
A) England (B) France (C) Japan (D) Germany

' i ‘ 5 ' loyees and the company to
. Society generally expects firms to work with employe ' ey 19
;ian(%f)lr lt;/y%)ffs. Th?s is an example of which of Archie Carroll's responsibilities?
A)economic (B) legal (C) justice (D) ethical

i1 - overnance: .
VHA%lillegziseigli found in developing nations (B) relies on publicly verifiable
information (C) relies on implicit agreement (D) 1s inherently
nontransparent
viii. Short-termism is defined as:
A) making assessments of the moral character of a company's managers.

B) the tendency for managers to focus on immediate performance objectives at
ok the expense of longer-term strategic objectives.

%’? C) assessing the costs and damages to the company's reputation as a result of
ethical violations,

D) weighing the short-term costs of re gulatory compliance with the long-term
costs of noncompliance,

O) whistleblowing, global compliance, integrity in the m
Iesponsibility to shareholders.

D) respect in the workplace, integrity in the marketplace, ethics In business
activities, and Iesponsibility to shareholders.

arketplace, and
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SECTION B

Q.2. [a] What are the components of a ‘Corporate Social Responsibility
Strategy’? [M-5] [CO-3]

[b] Explain emerging benefits of being known as a Socially Responsible

firm by taking examples of two suitable firms, [M-5] [CO-4]

Q.3. Compare Friedman’s traditional view of business responsibility with
Caroll’s four responsibilities of business. Give two suitable examples.

[M-10] [CO-1, 4]
Q.4. Discuss the process of stakeholder analysis. When should a company
undertake stakeholder analysis and what are the benefits? Give an example each
of instances where a company has suffered by not conducting stakeholder

analysis and where a company has strategically gained from stakeholder analysis,
[M-10] [CO-3]

Q.5. [a] Explain the concept of Sustainability. Through a suitable example,
highlight the challenges which a company has to address and the trade-ofTs
which it has to undertake while pursuing a strategy of sustainability.

[M-5] [CO-4]
[b] In the context of “Principle Disclosures” under ‘Indian Business
Reporting and Sustainable Report’, explain two sustainability related
principles and respective disclosures. [M-5] [CO-3]

Q.6. [a] What are the intangible costs which a company usually incur when an
unethical wrongdoing is discovered? Support your answer by taking example
from your own or any other company. [M-5] [CO-1]

[b] What is “moral dilemma”. Describe a situation from your own
professional experience when you faced moral dilemma. What guided you to
take appropriate decision in such a situation? Critically analysis your
decision taken in the past. [M-5] [CO-2]
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